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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272389
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54592740199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing term in the following series:

N2R, Q50 , W14A

Options:

1. = T8X
2. % S12Y
3. = 89Y
4. v TOX

Question Number : 1 Question Id : 54592740199 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafafEa e g@er A oIt g AT L

N2R, Qb5U, , W14A

Options:

1. = T8X
2. » S12Y
3. = S9Y
4. v TO9X

Question Number : 2 Question Id : 54592740200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find the wrong term in the following series:

ZVX, WSU, TPR, QMO, NKL

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. WSU
2. TPR

3. QMO
4. NKL

Question Number : 2 Question Id : 54592740200 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

forFafolad s@rem # el U AT i

ZVX, WSU, TPR, QMO, NKL

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. WSU
2. TPR
3. QMO
4. NKL

Question Number : 3 Question Id : 54592740201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Arrange the given words in the sequence in which they occur
in the dictionary.

1. Pragmatic
2. Practical
3. Praising
4. Pralines
5. Prattled

Options:

1. = 3,4,1,5,2
2. % 2,3,4,5,1
3.v2,1,34,5
4. =% 2,3,5,4,1

Question Number : 3 Question Id : 54592740201 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT eSal ol 3 hH H TIEUT L o T osaahlel A
g gl

Pragmatic
Practical
Praising
Pralines
Prattled

Options:

1. = 3,4,1,5,2
2. = 2,3,4,5,1
3. v 2,1,3,4,5

L N



4. = 2,3,5,4,1

Question Number : 4 Question Id : 54592740202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

1. = KMI
2. v GID
3. = PRN
4.« WYU

Question Number : 4 Question Id : 54592740202 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 710 aeheur A &, did T &ead aieh & AT &1
BTollleh, Ueh Tdehed 3 dlel hl dig olal &l 39 [heq

el L ST AT T 37T &1

Options:

1. = KMI
2. v GID
3. = PRN
4. = WYU

Question Number : 5 Question Id : 54592740203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In the given options 3 pair of words are similarly related and
one pair is differently related. Find the pair which Is
differently related.

Options:

1. v Judge : Court



2. = Painter : Painting
3. = Professor : Education
4. = Author : Book

Question Number : 5 Question Id : 54592740203 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

few 17 [Ghreul A 3 ersal & ST ThaAT Joiad & T Th
SIBT 37619 g & TaTSd &1 39 SHal &l ATd Y oI 37erdT
g & garadT gl

Options:

1. v sgrETdTer @ =TT
2. » RATFR : BRIy
3. = YTEATIR : foreqT

4. = oMGF : TRdrs

Question Number : 6 Question Id : 54592740204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the given options 3 pair of letters are similarly related and
one pair is differently related. Find the pair which is
differently related.

Options:

1. = CF : HK
2. LY : QD
3.vNT:SA
4.« QU : TZ

Question Number : 6 Question Id : 54592740204 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fov av farenl & 3 38 & NT THTAT Taradg § 3k o
SISr 3ol i@ O Harad gl 39 SISl I ATT &L SF 3eler

NE O garad &l
Options:

1. = CF : HK
2. = LY : QD
3. v NT : SA
4. = QU : TZ

Question Number : 7 Question Id : 54592740205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that is related to the third term on the same
basis as the second term is related to the first term.

EKR : IOV :: MTZ : ?

Options:

1. = PWC
2. = RYE
3.v QXD
4. = QYE

Question Number : 7 Question Id : 54592740205 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 [@Fhed T TIT Y of Y U5 8 34T VbR & Jaiad &
o 9 & Ygel U5 g UT H FEEAd g

EKR : IOV :: MTZ : 7

Options:

1. = PWC



2. = RYE
3. v QXD
4. = QYE

Question Number : 8 Question Id : 54592740206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the pair that is related on the same basis to the pair
given in the question.

DQW :HUA 2 ?
Options:

1. » CBN : FKR
2.« AMP : ESV
3. = LDU: OHA
4. v EHK : ILO

Question Number : 8 Question Id : 54592740206 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

38 SISl I Idel hd S 38T 3TN W aad &, o8 3R
9y TATT H T 95 oiar Tarad &l

DQW : HUA = ?

Options:

1. = CBN : FKR
2. = AMP : ESV
3. = LDU : OHA
4. v EHK : ILO

Question Number : 9 Question Id : 54592740207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the group of letters that is related on the same hasis to
the group of letters given in the question.

BLR : DNT : CMS = ?

Options:

1. = MZA : XND : YAE
2. UZD : VBH : MS]

3.v UZD : WBI : VAE
4. » MZA : UZD : SNR

Question Number : 9 Question Id : 54592740207 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 &R & THE T II Y S 3T YR 9T Gafdd &,
o 3 T garer A XU a0 38R0 & HAg Faldd g

BLR : DNT : CMS :: ?

Options:

1. = MZA : XND : YAE
2. = UZD : VBH : MSJ
3. v UZD : WBF : VAE
4. = MZA : UZD : SNR

Question Number : 10 Question Id : 54592740208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If bananas are called oranges, oranges are called
strawberries, strawberries are called grapes, grapes are called
apples, apples are called mangoes, then which of the
following are green in colour?

Options:

1. = grapes



2. ® mangoes
3. = oranges
4. v apples

Question Number : 10 Question Id : 54592740208 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATE hel ol AN THET oV, ARIT Pl TEISNT hal ST, TEeT
ST 39 FEI SV, 3L I G Fgl SAC, T HI 3TH FHgl AT,
ar feeafeiaa & & Toeger 1 &0 87

Options:

1. % 3R

o,

2. % 3T
3. % oA
4. v O

Question Number : 11 Question Id : 54592740209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a certain code language,

'Economic growth of Europe’ is coded as 'fi da gi ha'’
'high price low growth state’ is coded as 'hi gi ti si ki’
'erowth of the United State’ is coded as 'ti ha fi gi II’
'high inflation in Europe’ is coded as 'da hi ji pI’
What is the code for 'high rate in Europe’?

Options:

1. = sa da pi ha
2. = plda hisi
3.« hipigifi

4. v hini pi da

Question Number : 11 Question Id : 54592740209 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Teh TATead I #T9T A,

'Economic growth of Europe' &T 15 & 'fi da gi ha'
'high price low growth state' T &5 & 'hi gi ti si ki’
'growth of the United State' s 15 & 'ti ha fi gi I
'high inflation in Europe' &7 &g & 'da hi ji pi'

'high rate in Europe'shT 15 T §7

Options:

1. * sa da pi ha
2. = pl da hi si
3. % hi pl gifi

4. v hi ni pi da

Question Number : 12 Question Id : 54592740210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If SEASON is coded as NZVN]I, then what is the code for
PRUDENT?

Options:

1. » KNPYAOL
2. v KMPYZIO
3. * KMPXYIM
4. « KNPXASIM

Question Number : 12 Question Id : 54592740210 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfe SEASON &I NZVNJI & &9 # HIfsd foram Srar &, ar
PRUDENT T &1 &1 87

Options:

1. = KNPYAOL



2. v KMPYZIO
3. * KMPXYIM
4. = KNPXASIM

Question Number : 13 Question Id : 54592740211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Seven friends live in a housing colony, in a row that has 7
houses facing the same direction. The information about the 7
occupants of these houses is as follows:

1. P lives to the immediate left of N.

2. M has only one neighbour.

3. R and S do not live next to each other.

4. Only one house is between N’s and T’s houses.

5. R lives immediately between U’s and N’s houses.

6. Neither U nor S lives In a corner house.

7. Each friend lives in a separate house.

Who among the following is U’s immediate neighbour?

Options:

1. = P
2.% T
3.% N
4. ¢85

Question Number : 13 Question Id : 54592740211 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



gTd aEd Ueh B30T hialdl H Bd &, 99H T & feem & 7
BT &1 3o TRT o 7 I@al ATell hl SATARNT 39 TR &

1. P, N & &0 3 I&dT gl

. M T &del TH USIET &I

. R 3R S vsh qEY & 9Tl H oG B B
hdel Toh BX N 3R T & = & &1 g

. R, U 3 N & =T & s &dr g

. A AT U 3R T 8r'S Tk Fld & W H BT gl
7. U TEd Ueh 3old 8¢ H Ed ol

U & Uhed USIadl & & hid g7

Options:

1. = P
2. % T
3. = N
4, v S

D O AW N

Question Number : 14 Question Id : 54592740212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Three out of four words given below are similar following a
certain criterion. Select the word that does not follow this
criterion and is different from the others.

Options:

1. = Soldier

2. = Physician

3. v Professional
4. = Architect



Question Number : 14 Question Id : 54592740212 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A faU 910 I ersal & & die &7 fATead 9 & Uk &I
HTAES g1 39 215¢ & Tl e S 3H HATGIES T UTeldd oTal
AT § T ZEA & 37T G

Options:

1. = il
2. » Rfrca®
3. v UelaY
4 » AT

Question Number : 15 Question Id : 54592740213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that arranges the words given below in the
most appropriate and meaningful sequence.

1. Screening Test
2. Selection

3. Appointment
4. Interview

5. Application

Options:
1. v 5-1-4-2-3
2.x3-1-4-5-2
3. % 5-4-2-3-1
4, % 4-5-1-3-2

Question Number : 15 Question Id : 54592740213 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



ARt fev 910 ereal s Ho IUIFT AT ATTF IeRA A

LY Y i o
AT hial dlel [dFeT T T Hi|

1. Screening Test
2. Selection

3. Appointment

4. Interview

5. Application

Options:

1. v 5-1-4-2-3
2. #3-1-4-5-2
3. # 5-4-2-3-1
4, = 4-5-1-3-2

Question Number : 16 Question Id : 54592740214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Analyse the given information and answer the question that
follows.

The criteria for selecting a Software Developer have been
given as under:

The candidate must:

1. Be a graduate in Science or Engineering with at least 60%
marks.

2. Have more than 1 year of industry experience in software
development

3. Be between 18 and 27 years old on the date of application
The following exceptions apply:

A. If a candidate meets all other criteria except 2 above, the
candidate will be referred to the Programme Manager.

B. A candidate whose age is more than 27 years but less than
32 years will be referred to the Recruiting Manager.

Murtaza Sheikh is a science graduate with 86% marks. He has
started working as a software developer with a reputed firm
about 6 months ago. He is a gold medalist in Physics. He is 22
years old.

What decision should be taken about this candidate?

Options:

1. = The candidate should be selected.
2. * The candidate should be rejected.

3. v The candidate should be referred to the Programme
Manager.

4. = The candidate should be referred to the Recruiting
Manager.



Question Number : 16 Question Id : 54592740214 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&I IS STeThRT T [3ealor ¥ 3T 39 wea &7 3cad & o
oo TR B
Ush HIFCAAL STAIH o Tel o HAlelas foie=lleldr fev arw &:

3FAEAN I ARV

1. HF & T 60% 3Th! o T A ATA AT Soilla AT H
TATAR &l

2. HiFedIL STeTHC A 3N T 1 a¥ & 3k T 3HTHT gl
3. 3@Age hr At 18 & 27 a¥ & &= &l

fAFafel™@a auare o] gid &:

A. IfE FIE IFARIR 3TNFT 2 I BIgHL 3T GHT ATACS!
I W T §, d SFAGIR I TEITH Heloll & 9 Sl
STTUATT|

B. Ush AR foraehr 3mg 27 a¥ @ ifae &, ofcher 32 a¥
T FH &, F 7df TgUF F I AT ST

HIS 2 86% 37l & @M TaaTel Tollereh &1 3Hel oaTeiar 6
:H%’I?T U8l Tah UTA™ad ®H o GTT Th HiFedI sdodl & &Y
H HA ST AF K fGAT ) gg o 7wt geh Aot &
38T 3H 22 a¥ gl

9 3FAGAN o g H F7 v foRr Srer anfge?

Options:

1. = 3FAICAR T IIA BT ANET




2. » 3FARAR Sl TR N &I7 ST a1fgel
3. v 3FAICAR I UEMH Hololl & T HST ATl AR
4. » 3FAICAN &l dT UFUFH & I HT AT AT

Question Number : 17 Question Id : 54592740215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Disha is Kishore’s daughter. Gaurl is Jeevan’s daughter. Gauri
is Disha’s mother. How is Jeevan related to Kishore?

Options:

1. » Father

2. v Father-in-law
3. = Son-in-law

4. = Son

Question Number : 17 Question Id : 54592740215 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faem, forenT 1 &7 &1 7Y, Shaer Fr 31 & iy fgemw v Amar
&1 SigeT, foreT @ SO gefaa &7

Options:

1. = Toar
2. v @8I
3. = QAT
4. % TF

Question Number : 18 Question Id : 54592740216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In this question, a statement has been given, followed by two
assumptions numbered I and II. Analyse the two assumptions
together and determine which of them is/are implicit in the
statement.

Statements: “Buy milk of brand X, it is pure and healthy
because this milk comes directly from the farm to your
doorstep.” — an advertisement.

Assumptions:

I. If a product comes directly from the source or point of
production to the point of consumption, it remains pure and
healthy.

II. No other milk company can delivers milk directly from the
farm to your doorstep.

Options:

1. v Only assumption I is implicit.

2. = Only assumption II is implicit.

3. » Neither assumption I nor assumption II is implicit.
4. = Both the assumptions are implicit.

Question Number : 18 Question Id : 54592740216 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TH Ul H, Ueh el &ar =m &, o9 &g | 3T 1| & ar
JRUNY & Teh TTL el gROMT FT faeavor i 3w @aiRa
#¢ fF 3d87 & i arA sad & AT &

FUe: "S5 X hT gy TG, T§ U< N Tovy § FifH T8 qU
BT T WY 3T G T 3T &1 - Th AT

=r

YUy

. Ife AT 3cuTg SeulesT & AT A7 foig F WY 3T+ fog
I 31T 8, o IE o€ 3 TEEY BT B

. P 8 g FIT TT & WY 3T+ B T Y el Iga
Gehll &

Options:

1. v shad 9RO | AT &

2. = ol grom || fAfga &

3. = of dF 9RO | 3T o & aror || fafga &
4. » g arone AT g

Question Number : 19 Question Id : 54592740217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In this question, two statements have been given labelled as
Assertion (A) and Reason (R). Analyse both the statements and
determine whether they are correct and whether the reason
correctly explains the assertion.

Assertion (A): Clothes dry faster on a windy day.
Reason (R): The evaporation rate is low on a windy day.

Options:



1. = Both A and R are true and R is the correct explanation of
A,

2. = Both A and R are true but R is not the correct explanation
of A.

3. v Alistrue but R is false.
4, « A is false but R is true.

Question Number : 19 Question Id : 54592740217 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

=T Wesl H, & FYAT hr AdfFFUA (A) T FROT (R) F T H
SlereT T 1T &1 Sl el T fgeeyor ¥ 3w FaiRa =3
oF =T 3 Ter & Mt =T FRUT O Ter § o 3 9d19|

3fFheT (A): FUS Teh ool gAER fdel T S B
FRUT (R): ATSURIOT T 2T Teh §AIER T&eT U A ATl &

Options:

1. = A 3T R gl @7 & 3N R, A =T ¥cg =I1&4T &l

2. % A 3T R Qar I § dfreT R, A T T =1=AT FAET &1
3. v A T & Wlfshel R 318 &

4, = A 3T & dfha R @ &1

Question Number : 20 Question Id : 54592740218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Complete the following number series:

13, 25, 41, 61,
Options:

1. % 78
2. % 82



3.v 85
4. % 96

Question Number : 20 Question Id : 54592740218 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ToFaToEd @EaT el T T HL:

o,

bt

13, 25, 41, 61,

Options:

1. = 78
2. = 82
3. v 85
4. = 96

Mental Ability2

Group Number : 2
Group Id: 5459271992
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Mental Ability?2

Section Id : 5459271992
Section Number : 1

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20



Sub-Section Number: 1
Sub-Section 1d: 5459272390
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54592740219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the wrong number in the following number series:

15, 48, 147, 444, 1337

Options:

1. = 48
2. % 147
3. =444
4.« 1337

Question Number : 21 Question Id : 54592740219 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafoad Tear sEer # & Ted F&IT AT -

15, 48, 147, 444, 1337

Options:

1. = 48

2. = 147
3. = 444
4. v 1337

Question Number : 22 Question Id : 54592740220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that is related to the third number on the
same basis as the second number is related to the first
number.

11 :132::19:7?
Options:

1. = 365
2. v 380
3. = 372
4. = 361

Question Number : 22 Question Id : 54592740220 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

39 [Ahed T TIT HL AT AT T&IT H 34T TR & Tdarad
g o9 9 @ ugell d&aT I §EAT @ el g

11 2 132 == 19 : 7

Options:

1. = 365
2. v 380
3. % 372
4. = 367

Question Number : 23 Question Id : 54592740221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

93, 120, , 200, 255, 320

Options:

1. = 175



2. % 145
3. = 165
4. v 155

Question Number : 23 Question Id : 54592740221 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFToTaT F&ar &er A Gk TEAT I ATT Fi

95, 120, , 200, 255, 320
Options:
1. = 175

2. = 145
3. = 165
4. v 155

Question Number : 24 Question Id : 54592740222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

208, 231, , 283, 312, 343

Options:

1. = 262
2. % 242
3. v 256
4. % 267

Question Number : 24 Question Id : 54592740222 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



feTfaTaT a&ar s/&er | AT TEIAT I ATT FI|

208, 231, , 283, 312, 343

Options:

1. = 262
2. = 242
3. v 256
4. = 267

Question Number : 25 Question Id : 54592740223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the missing number in the following number series.

192, 216, , 300, 360, 432

Options:

1. = 238
2. % 264
3. % 227
4, v 252

Question Number : 25 Question Id : 54592740223 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feTfaTaT a&ar s/&er | AT TEIAT I ATT FI|

192, 216, , 300, 360, 432

Options:

1. = 238
2. = 264



3. & 227
4. v 252

Question Number : 26 Question Id : 54592740224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If x-5>y+ 3, then which of the following is true?

Options:

1l.vxX-y>8
2.8 X+ty<§
3.#X-y<8
4 xX+y>8

Question Number : 26 Question Id : 54592740224 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife x - 5>y + 3 § a Toedafel@ad & @ i °7 97 &7

Options:

1.vx-y>38
2. % X +y <38
3. Xx -y <8
4. = x +y > 8

Question Number : 27 Question Id : 54592740225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Akansha cut a cake into two halves and cuts one half into
smaller pieces of equal size. Each of the small pieces is 15
grams in weight. If she has eight pieces of the cake in all with

her, how heavy was the original cake?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.240 g



2.210 ¢
3.280 ¢
4.290 g

Question Number : 27 Question Id : 54592740225 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TRTT o Uk oheh @l &l @&l H arer, T 398 O &7 39
f&ed T ST 3R & BIC ghsl # e B ghsl # 4

Tcdsh dolel A 15 A &1 IR 38 T ek & Fel S Ths
g, ar AT % Forcar s om?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 240 g
2. 210 g
3. 280 g
4. 290 g

Question Number : 28 Question Id : 54592740226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The cost of 18 tables and 24 chairs is Rs 7356. What is the cost
of 3 tables and 4 chairs?

Options:

1. » Rs 1839
2.vRs 1226
3. = Rs 1532
4. » Rs 1452

Question Number : 28 Question Id : 54592740226 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



aﬁmmsﬂtmgﬁa’reﬁrmmsew%m‘rsm
3R 4 FAAT 1 Frad FAT &7

Options:

1. = 1839 U@
2. v 1226 349U
3. = 1532 34U
4. = 1452 34T

Question Number : 29 Question Id : 54592740227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which two signs should be interchanged to make the below
equation mathematically correct?

28x10+420+(7-5)=30

Options:

1. =+, +
2. X, -
3.0% x +

4, %+, -

Question Number : 29 Question Id : 54592740227 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T&U 91T GATRIOT &l A0AT §T & gl Tolled & 0w, et
gl ™eal & WEW TATATINT [ haT AT A1g0?

28 x 10 + 420 = (7 - 5) = 30
Options:

1. = +. +

1

2. v X, -



Question Number : 30 Question Id : 54592740228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Venn diagram given in the question represents the
relationship between the items given in which of the
following options?

OOO

Options:

1. = water, liquids and ice

2. v lions, leopards and herbivores

3. = fathers, teachers and poets

4. = spinach, potatoes and vegetables

Question Number : 30 Question Id : 54592740228 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

geal & T3T IR 34 3INE farafaiaag # O frg ey & T
T FEgH & f F FEw B gaAfar §2

OOO

Options:

1. = UTaT, &g 3T §%

2. v AT, dg3M N ATRERT
3. » Toqar, e 3 g



4. = Tereh, 3ol 3 afesrar

Question Number : 31 Question Id : 54592740229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

In a survey of the air forces of 50 countries it was found that
they have fighter planes of different makes. The results of this
survey are shown in the following Venn diagram. The air
forces of how many countries have F-16s or MIG-29s but not
Sukhoi-30s?

Options:

1. % 35
2.v 17
3.% 10
4 % 18

Question Number : 31 Question Id : 54592740229 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

50 c@It =T a1 ATl & U TALTOT H Ig U1 a7 foh 3otk
arE Af#es TR & oSt [9AeT &1 59 |d&Tor & oA
foeatfafEa a7 3@ # fe@me av 8| fovaer et 1 arg e
% U F-16 Ir MIG-29 g’,ﬁ'ﬁ%’g@%’ﬂﬂﬂﬁ'%’?

Sulhol - 30




Options:

1. = 35
2. v 17
3. = 10
4. = 18

Question Number : 32 Question Id : 54592740230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In this question, two statements are given followed by an
inference. Analyse the statements and the inference and
determine whether the given inference can be drawn from
the statements.

Statements:

I. A good leader leads from the front and creates more leaders.
II. Indu, who works shoulder-to-shoulder with other
employees, creates opportunities for others to become leaders.

Inference: Indu is a good leader.

Options:

1. ¥ The given inference is definitely true.
2. = The given inference is definitely false.
3. = The given inference could be true or false.

4. = This inference cannot be drawn from the given
statements.

Question Number : 32 Question Id : 54592740230 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



=g 9o H, &7 FUl & dG Ueh AT ST STl &1 Shear
3R STATAT T faeedyor & 3R faTia T f& fqu e
HAATSAT T FAAT T foAshTell ST FehelT & AT LT

h ol

. T 3BT AdT dAded FIAT & 3R 3HF AT Folrar g
. 37eT FATTRIT & TTT T T FYUT HATRT FIH FLa dTell
g GERT F Sicl Selel & 3TET YaT LT B

3TefATT: 3G Ueh 3TeadT oAdl §
Options:

1. v T&3T 7 3AT T E

2. = o2 a3 AT ARTT ¥ & 36T ¢

3. = T 917 (AT T AT AT & TehelT ¢
4. » UG AT &0 AT Fofel H W] AEH Bl

Question Number : 33 Question Id : 54592740231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Starting from his home, Shivam went 3 km towards East.
Then, he turned right and went for 4 km straight. Then, he
turned right and went straight for 3 km. Finally, he turned
right, went for 5 km and stopped. How far is Shivam from his
home?

Options:

1.+ 1 km
2. % 0 km
3. % 3 km




4. = 15 km

Question Number : 33 Question Id : 54592740231 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e B @ qF BT, RIad g #7 3 3 km @M e, a8
a9 HST 3 A1 4 km =olr 7141|698 a0 AT 3T & 3
km TeIT =T MTESR, @8 5 km Iar 3T &= a7 &9\
3 B foraelr g7 &7

Options:

1. v 1 km
2. % 0 km
3. = 3 km
4. = 15 km

Question Number : 34 Question Id : 54592740232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following options is the wrong figure in the
series?

= =
=
=

W wiw

XYy x| ¥ x| X ¥
a b c

Options:

1.« A
2. % B
3.% C
4.¢vD

Question Number : 34 Question Id : 54592740232 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fArafaf@a & @ wia O AsFeT sier & e 3MHia &7

= =
=
=

W wiw

Xy X Y X/ xy
a b G

Options:

1. = A
2. = B
3. C
4. v D

Question Number : 35 Question Id : 54592740233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the given options, three are similar in a certain
manner. However, one option is NOT like the other three.
Select the option which is different from the rest.

Options:

NOOO
ONN
0O

NOUN
OO0y

O N O

[
N
A




O
]
0 |
4. « NO

%

Question Number : 35 Question Id : 54592740233 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fovw 17 Fepedl # &, dI v @fegd oy & AT &

&TellTeh, Ueh [deheq 3 diad FT aig a8l &1 39 ™[ereT &
T he Sl eT & AT &l

Options:
] ]
028
DDEI
1. = @
D%E
BDD
2. % mlZln
LAORN
O N
]
3. = | AOO
LA
N
82 @0
4. v 5o B

Question Number : 36 Question Id : 54592740234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Each option has a pair of figures. Three are similar in a
certain manner. However, one option is NOT like the other
three. Select the option which is different from the rest.

Options:

T N
S @ ,/t\\
1. v ‘

Question Number : 36 Question Id : 54592740234 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ucdeh Tdhed H 3TRRI whl Uk SAIal ol did Toh [aead il
O AT &| &Tellleh, Uk Tdhed 3 dlel hl i@ olal &l 39
[gehed T T L ST e § 3ol &l

Options:

T [
5 @ //t\\
1. v :




= [ @
5 | @ A
2. % L :
I \
# iy,
; 5 4
@ & F
3. % ,
| o,
s | e | [N
1 7N
- # @ N\
4., =

Question Number : 37 Question Id : 54592740235 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Which of the following answer figure completes the pattern
shown in the question figure?

P
3

Options:

4
o]

1. =

.
&




<y
>

Question Number : 37 Question Id : 54592740235 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArtfel™@a & @ $led @ 3cav 3hfa 9o 3Mhfd # g@iv v
YeeT ol qIT 7

HZ
P
i




S

Question Number : 38 Question Id : 54592740236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a cube is painted blue on two opposite sides, red on another
two opposite sides and green on the last two opposite sides
and cut into 64 smaller cubes, then how many such smaller
cubes will have one side red and one side blue and no paint
on any other sides?

Options:

1. %4
2.v 8
3.2 0
4, % 12

Question Number : 38 Question Id : 54592740236 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e Uk Hol sl ar [AaRd 9&t ' sitel 6T & & ST &, AT
maﬁﬁﬂﬁﬁqﬁwmaﬂtaﬁ?a‘rﬁﬂﬁﬁqﬁaﬁ@
W q WM ST § 3 38 64 S garpiadl # #ie f&am Sar
g, d UHT fohcail BT Telshical H Ush ol ool 3T Teh

dXH Sirell &1 BT 3R 37 ThaT AT 987 9 I LT dal BEm?

Options:

1. = 4
2. v 8
3. = 6
4. = 12




Question Number : 39 Question Id : 54592740237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Parts given in which option can be joined to create the
pattern given in the question figure?

Options:

[ T]

4 =

Question Number : 39 Question Id : 54592740237 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



wes 3Hfd H AT a0 ¥t &1 dara & fovw Hia & foheq &
f&ed SN2 ST @ahd &7

Options:

Question Number : 40 Question Id : 54592740238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Find out from amongst the four alternatives as to how the
pattern would appear when the transparent sheet is folded at
the dotted line.

7 4
o= D

Options:

Question Number : 40 Question Id : 54592740238 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



IR fdshedt # & I8 A w6 Hegr 3@ W aredl sere
$T Aga T Yo AT femrs am

7 4
)

\rl—

Options:

=
N
G s

—i
]

=
N

2. = DA

________
3. » [P

=]
4. v &9
General Awarenessl

Group Number : 3
Group Id : 5459271993
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessi

Section Id : 5459271993

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272391
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54592740239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these musical instruments is a mud pot with a
narrow mouth used for producing fast rhythmic patterns?

Options:

1. = Tabla

2. v Ghatam

3. = Mridangam
4. = Jaltarangam

Question Number : 41 Question Id : 54592740239 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

goT glegdar H & hia &1 Ueh RS 1 T3 & oA de o9eg
Yeel 3cUedl el & ToIT Ush THTOT HE T 39IRT fohaT ST 87

Options:

1. = Telell

2. v "UIdH



3. = HEI

4. = SToIdIITH

Question Number : 42 Question Id : 54592740240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Theyyam includes dance, mime and music performed with
headgear and other heavy ornaments originates from which
of these states?

Options:

1. » Rajasthan

2. » Maharashtra

3. » Jammu and Kashmir
4. v Kerala

Question Number : 42 Question Id : 54592740240 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sn @ e oo & azH 3 e & o e, AsA ik
Gl eMMiHer &, S g3 3N 3 HHT 3NN & &1 fohv
ST 87

1. = JTSTFEAUTA

2. » HENTSE
3. » SF 3R FHAR
4, v HTe

Question Number : 43 Question Id : 54592740241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is the Tibetan New Year mainly celebrated
in Ladakh either at the end of January or at the beginning of
February?

Options:




1. v Losar

2. » Shivrathri
3. = Easter

4, = Lent

Question Number : 43 Question Id : 54592740241 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gAA F Fid &1 fdsadl o a¥ eI ow™ A Feaadl & 3d
H AT WIS AT A AATRAT ST &7

Options:

1. v oET
2. = gy
3. % 3¥eT
4, = W

Question Number : 44 Question Id : 54592740242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Cellular Jail is located in which of these places?

Options:

1. » Daman and Diu

2. v Andaman and Nicobar
3. = Lakshadweep

4. = Srilanka

Question Number : 44 Question Id : 54592740242 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Begol ST 3aH & v T H oo &7
Options:

1. = g 3k ST
2. v USHATA 3T ToTher




3. * oI&TEdId
4. % HTefenT

Question Number : 45 Question Id : 54592740243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which was the first Private sector bank established after the
Economic Liberalization of 19917

Options:

1. v AXis Bank

2. » ICICI Bank

3. = Indian Overseas Bank
4. » HDFC Bank

Question Number : 45 Question Id : 54592740243 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1991 & I 3EHRIRIOT & &g TATUT Ugell T[owil &F &I &k
ieT T AT?

Options:

1. v Uoag &+

2. = ISUBEHRE S
3. » 33YaT MadeT &
4. » TABIUHAT Sh

Question Number : 46 Question Id : 54592740244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is not a factor used in the determination of
Minimum Support Price?

Options:

1. v Revenue generated from Tourism
2. = Trends in market prices
3. = Effect on cost of living



4, = Parity between prices paid and prices received by the
farmers.

Question Number : 46 Question Id : 54592740244 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et # & Fid 81 FRF cgodd AT Hed & Toaor &
UG ABl foham STar g7

Options:

1. v 9d¢d & 3cUed JSIEd

2. % HISTL T HIAIT H TSI

3. % SiIdel ATHeT kT ST UL THIG
4,

x fopdTal SaRT Ut hiAdH A HrAdr & S GHATAAT]

Question Number : 47 Question Id : 54592740245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these has a lower Nominal GDP than India in 20187

Options:

1. » Japan

2. » Germany
3. = China
4. v Russia

Question Number : 47 Question Id : 54592740245 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

2018 A IR T Jelall H a7 & fohy 1 AAATT GDP &7

Options:

1. = ST9TeT
2. % STHAT
3. » Tlaf
4. v §H




Question Number : 48 Question Id : 54592740246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these can split light into its different colour
components?

Options:

1. = Pyramid
2. » Pentagon
3. v Prism

4. = Cubolid

Question Number : 48 Question Id : 54592740246 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SaAH & hidl TT TehTel &l 9o Afeeet T et A auied

Y GohdT &7

Options:

1. = OufAs
2. = TS
3. v OeH
4. = YTl

Question Number : 49 Question Id : 54592740247 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A person weighs more on earth than on the moon because of
the difference in

Options:

1. = distance

2. = speed
3. % time
4. v gravity

Question Number : 49 Question Id : 54592740247 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

H 3 & HRUT Ueh eTerd dgAT 9T g2dr
hT TorelT 7 37TAF Tofer arerm Bl B

Options:

1. = gdr
2. = AT

3. = AT
4.JW@UT

Question Number : 50 Question Id : 54592740248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Dry ice is
Options:

1. = solid oxygen

2. = solid nitrogen
3. v solid carbon dioxide
4. = solid water

Question Number : 50 Question Id : 54592740248 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g&r a% gl

Options:

1. = 1 3fierdrotel

2. % oNF sISeleld

3. v 3T FEe SBHFAES
4, = S Yrall

Question Number : 51 Question Id : 54592740249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Cabbage is which part of the plant?

Options:



1. v Bud

2. % Stem
3. = Fruit
4. = Leaves

Question Number : 51 Question Id : 54592740249 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT I T HlaT TT AT &7

Options:

1. v Foll
2. % ddl

3. = el
4. % Yo

Question Number : 52 Question Id : 54592740250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these belongs to the category of crustaceans?

Options:

1. v Prawn
2. » Chicken
3. % Goat

4. = Sheep

Question Number : 52 Question Id : 54592740250 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH T i HESRAT Rl AT & FErOT &7

Options:

1. v SEm
2. = FI

M

3. =% SR



4. » AT

Question Number : 53 Question Id : 54592740251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The process by which radiation from a planet’s atmosphere
warms the planet’'s surface to a temperature above what it
would be without this atmosphere is called as

Options:

1. = Global warming

2. = Blue ocean effect
3. = Red sea effect
4. v Greenhouse effect

Question Number : 53 Question Id : 54592740251 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uk YT [oEeh 2arT fohell a1 & argAse | afehaor a8 &
TAE T T8 ATIAS W ITH FT g & a8 30 agAsy &
foer ar g e, 349 HEl STl &l

Options:

1. = 3-I“d-i5c>inl~l-l FSATRI]

2. % el e THIT
S.WWWW

4. v U39 TH1G

Question Number : 54 Question Id : 54592740252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these diseases 1s not spread because of open
defecation?

Options:

1. « Diarrhoea
2. = Typhoid



3. v Malaria
4. = Hepatitis

Question Number : 54 Question Id : 54592740252 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH & i TT ATHNT UHT & STal heldl &7

Options:

1. = ATIER
2. = 3T Al
3. v HET
4. = Fpd MY

Question Number : 55 Question Id : 54592740253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is the only Mammal that lays eggs?

Options:

1. v Duck billed Platypus
2. » Peacock

3. = Ducks

4. = Crocodile

Question Number : 55 Question Id : 54592740253 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH O Fid ThATT TAJTURT & ST 33 a1 §7

Options:

1. v a9 Teel Tolfcud
2. = AR
3. % §dd

4. = FAINHTS

Question Number : 56 Question Id : 54592740254 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Tapti River finally ends into which of these?

Options:

1. v Gulf of Khambat
2. » Gulf of Kutch

3. = Gulf of Mexico
4. = Indian Ocean

Question Number : 56 Question Id : 54592740254 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

drear siel 3/ & S8 8 fohe & §AT SI1ar g7

Options:

1. v THATT hT HTaT
2. % e ol HIal
3. = RAToaehT T FTET
4. = Tgg ASNEER

Question Number : 57 Question Id : 54592740255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Nepalese people call the Mount Everest by the
name

Options:

1. = Titlis
2. v Sagarmatha

3. » Chomolungma
4. = Kanchanjunga

Question Number : 57 Question Id : 54592740255 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AUTAT oNeT UaRES Uad ohl
Y

Options:

ATH & TR



1. = feeog
2. v GILATAT

3. % TTATSIITA]

4. % FeTldn

Question Number : 58 Question Id : 54592740256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is a tidal estuary on the border of India and
Pakistan?

Options:

1. v Sir Creek

2. » Similan Islands
3. = Maliku Kandu
4. = Indira Point

Question Number : 58 Question Id : 54592740256 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

S & i AT 9T 3 gIfchedra sl AT IW Tk SaR @l
HETa &7

Options:

1. v T Fen

2. = Tafdee a9
3. % HAfelsh g
4. = eI Uige

Question Number : 59 Question Id : 54592740257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these soils is formed as a result of high leaching?

Options:

1. v Laterite




2. » Black
3. = Alluvial
4. = Red

Question Number : 59 Question Id : 54592740257 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T SNTeT & TRUMTAEG®Y e HaT 1 TaATor gidar &7

Options:

1. v olese
2. % &Tell

3. = quﬁqo{

4. % Tl

Question Number : 60 Question Id : 54592740258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Cashewnut grows best in which of these soils?

Options:

1. v Laterite
2. » Black
3. = Alluvial
4. = Red

Question Number : 60 Question Id : 54592740258 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

goH & fF8 HaT # FI9] ey ITET e 8 397dT 87

Options:

1. v olese
2. % Slell
3. » Uegraddl

o,

4. = olTel



General Awareness2

Group Number : 4
Group Id: 5459271994
Group Maximum Duration : 0
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Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54592740259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Most ocean currents in northern hemisphere move in
clockwise manner and ocean currents in southern
hemisphere move in an anti-clockwise manner due to ?

Options:

1. = Edison’s Theories

2. v Coriolis force

3. » Newton's Laws

4. = Bernoulli's Principle



Question Number : 61 Question Id : 54592740259 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fead # & Uk & NOT, Scadl qerd H TR A EPRg
UNIC ETEvmad aiier & Terarl & 31T f&ofr atersd &
ASNRERIT 9RIC gTHEdT a8 Jodr gl

Options:

1. = uls@d & &g
2. v ST qd
3. * #gcd & oA
4. % Sopell 1 &I

Question Number : 62 Question Id : 54592740260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these does not belong to the "Ancient East” category
of civilizations?

Options:

1. = Indus Valley

2. = Pharonic Egypt

3. » Mesopotamia

4. v American Indian Lineage

Question Number : 62 Question Id : 54592740260 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gofH & il T FeIAT3I T "W q@" A & GO T8 87

1. = Ry ady

2. » BRIfaesh AT

3. = AGrdefAAT

4. v AN ARGT ger



Question Number : 63 Question Id : 54592740261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The smallest division of measure, approximately 1.6 mm, was
marked on an ivory scale and was found during excavations
at which of these places?

Options:

1. v Lothal

2. » Harappa

3. » Mohenjo-daro
4. = Dholavira

Question Number : 63 Question Id : 54592740261 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATT T o BT AHTSTT, 99T 1.6 mm, g&refigra TAe o
ffgera foRar TR o7 3% gad & foh TuTe O Fag Al

Options:

1. v o

2. % gstdr

3. » Al Sfgst
4, = GIETdRT

Question Number : 64 Question Id : 54592740262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sangam literature mentions which of these dynasties?

Options:

1. = Chalukya
2. = Khilji

3. v Chola

4. « Maurya




Question Number : 64 Question Id : 54592740262 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TITH OiigcT A Fopg TS &7 3ol &7

Options:

1. = S
2. = TEersir
3. v Al
4. = AR

Question Number : 65 Question Id : 54592740263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who was the last ruler of the Mauryan dynasty?

Options:

1. = Ashoka

2. » Bindusara

3. » Chandragupta Maurya
4. v Brihadratha

Question Number : 65 Question Id : 54592740263 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT T T ATTH AT hid 2AT?

Options:

1. % 372Nk
2. » fSequr

S.Qda?ﬁmér
4. v IgaY

Question Number : 66 Question Id : 54592740264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

World Teacher Project was initiated by which of these
eminent personalities?

Options:



1. * Raja Rammohan Roy
2. » Subhash Chandra Bose
3. = Maulana Azad

4. v Annie Besant

Question Number : 66 Question Id : 54592740264 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fEreg Terersr gR=rstar hr QB3 org uEaTa =god o hr of1?

Options:

1. % Il TAAGAS T
2.wg“a¢rsriiaa’r\=r

3. % AT 3TSIE

4. v TUaTl S§4c

Question Number : 67 Question Id : 54592740265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these Assamese Freedom Fighters died while
marching to hoist the Indian flag in Assam during the Quit
India Movement?

Options:

1. + Kanaklata Baruah

2. » Matangini Hazra

3. » Bhogeshwarl Phuknani
4. = Bhikaji Cama

Question Number : 67 Question Id : 54592740265 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

sad d T 3ATHEAT TTTIdT alTall sl AR SISt 3Glelel &
STl 39H H AR €d gl é?a‘fﬂ?rrﬂg‘é&ﬁ‘?

Options:

1. v Shedcheldl S&T




2. % ATAREIAT &l
3. = sMAeTT Gehalall
4. » HAEGTST HTAT

Question Number : 68 Question Id : 54592740266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among these is the first to be awarded the Bharat Ratna
Posthumously?

Options:

1. = Bidhan Chandra Roy
2. » Dhondo Keshav Karve
3. v Lal Bahadur Shastri
4. = Jawaharlal Nehru

Question Number : 68 Question Id : 54592740266 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SoIH § il Tgel AIUNIT AR Icd & TFATAT [T T 57

Options:

1. = TogTe Ig T
2. % 8T held hd
3. v el SaIey TTEAT
4.

x STATEYellel Ag®

Question Number : 69 Question Id : 54592740267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The gallantry award 'Victoria Cross’ was replaced by which of
these post Independence?

Options:

1. = Maha Vir Chakra
2. v Param Vir Chakra



3. = Vir Chakra
4, = Sena Medal

Question Number : 69 Question Id : 54592740267 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TIAIAT & qIE dRAT [WERR TFFRar wia' 1 foras gany
giaeeiua Toar aar ar?

Options:

1. = H&T dI Ush
2. v WHAR Tk
3. » dIT T>h

4. = T AS

Question Number : 70 Question Id : 54592740268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Kannagi Devi Award is given away by the President every
year for

Options:

1. = Best Institution for Research & Development in the field
of women empowerment

2. = Best Private Sector organization/ Public sector
undertaking in promoting the well-being and welfare of
women

3. = Best Urban Local body for providing services and
facilities to women

4. v Best State which has appreciably improved Child Sex
Ratio (CSR)

Question Number : 70 Question Id : 54592740268 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



&L grel {egafd ganT ¥ foIT seatall 28T
ERR fe2m Srar &

Options:

1. * AT TLAFATHRIOT & &T H 3T 3N G & folv
oAt TTLTel

2. = Afga3il T oo AT FeAd1oT I FS@T S F T
gaass el &7 aaa/adeiiech & T 3TshA

3. = AT T FAU 3R FAUW Yo w8 & folv qasss
TR TATHIT Tash T

4. v g1 T 37e[urd (CSR) (HITHIN) F JuRe & folw
IS T

Question Number : 71 Question Id : 54592740269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is awarded to scholars from Asian countries to
spend 3 to 12 months in India to pursue a literary project?

Options:

1. v Ananda Coomarswamy Fellowship
2. = Premchand Fellowship

3. » Bhasha Samman

4. = Sahitya Akademi Fellowship

Question Number : 71 Question Id : 54592740269 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gTiaicaesh TRASTST Sl ¥ FeTal o o0 S8 & hied I
TS el & fdgare s IRad # 3 ¥ 12 #Agla fodme & forv
QR fear amr g7

Options:

1. v 3Telg HIAREITAT Henferg




2. = QATE Henferg
3. ® HINT GFHTA
4. % TIEcT MRIEAT Henrerg

Question Number : 72 Question Id : 54592740270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among these has won a Nobel Prize for his work on
the scattering of light and for the discovery of the effect
named after him?

Options:

1. = Rabindranath Tagore
2. *» V.S, Naipul
3. v L.V Raman
4. = Har Gobind Khorana

Question Number : 72 Question Id : 54592740270 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SaH 8 Tohdel Ueh1el o TehiUlel WX 39al hiH o folT sAlsdl
ERR ST & 3 3Tk oA & TH7T T st T sATHT{ehel
ToraT T & 7

Options:

1. = TAgaAT &MY
2. % LU, A9l
3. v &I 4ar. IH

4. » gLaNfdee ZTET

Question Number : 73 Question Id : 54592740271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Variable Energy Cyclotron Project, Kolkata is set up by which
of these eminent scientists?

Options:




1. * Homi Jehangir Bhabha
2. v Vikram Sarabhali

3. = C.V. Raman

4. = APJ. Abdul Kalam

Question Number : 73 Question Id : 54592740271 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fora oeaTa daATfae g@RT, T ST ATl IRITelH,
HIeTehIAT hl TATTAT T T3 &7

Options:

1. % BIAT FABEINL HATHAT
2. v TahH ;FI'ITFBTI?

3. = HILALIAA

4. » TULS.37sqel hellA

Question Number : 74 Question Id : 54592740272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many members of the constituent assembly signed the
Constitution?

Options:

1.~ 284
2. % 500
3. = 40
4. = 20

Question Number : 74 Question Id : 54592740272 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT o7 & Tohdel T8Il o IAYTeT T gEdreT e &7

Options:

1. v 284




2. = 500
3. = 40
4. = 20

Question Number : 75 Question Id : 54592740273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Though the Governor has the power to pardon, he cannot
pardon which of these?

Options:

1. = Juveniles

2. = Petty Theft

3. v Death Sentence
4. = Fraud

Question Number : 75 Question Id : 54592740273 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gTellfor T=TUTSl o UTH &THT Flel T Qi &, olfhel ag SoIH
o 8 HATH I8l T Tohd &7

Options:

1. = TopelRy

2. % &g ANT

3. v AT &1 o
4. % @

Question Number : 76 Question Id : 54592740274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these is not a pre requisite for appointment as a
Judge of the Supreme Court?

Options:

1. = Citizen of India



2. v Should be of the ages of 40-55

3. » has been for at least five years a Judge of a High Court or
of two or more such Courts in succession

4. = has been for at least ten years an advocate of a High
Court or of two or more such Courts in succession

Question Number : 76 Question Id : 54592740274 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Hafed FATed & AR & ¥ A fagied & v gaa @
FIT-ET 3Tl o6l &7

Options:

1. * AT hT AR
2. v 40-55 FT 37 & g AMRT

3. * FH H FH YT T deh 3T AT & aarareirer AT
3caUigshT # ar Ir M9 08 AT & «Irardier @ &

4. » FH T FH T T T 37T I=ATAT & Uk JehTel AT
ScaRITUR & 2 AT M 0F SITerdl & fg<ar &

Question Number : 77 Question Id : 54592740275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Provision for free and compulsory education for children is
listed in which article of the Constitution?

Options:

1. v Article 45
2. » Article 5

3. = Article 20
4. = Article 15

Question Number : 77 Question Id : 54592740275 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



HiadTe & o e & gt & fov #god 3 sifeary
fRreTr 1 wradTe e &7

Options:

1.@31@175?45
2. » 3TOE 5
3. = e 20
4. = 3edg 15

Question Number : 78 Question Id : 54592740276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who beat Viswanathan Anand to become the World Chess
Champion in 20137

Options:

1. = Anatoly Karpov

2. » Garry Kasparov
3. v Magnus Carlsen
4. = Bobby Fischer

Question Number : 78 Question Id : 54592740276 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

2013 # 92T oadsT AT Saa & folw [Qegaree e Hr
fraa T

Options:

1. = Uolclall hrafg
2. = 3T FERF

3. v HI9 FToldd

4. = qar R

Question Number : 79 Question Id : 54592740277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which country hosted the Winter Olympics in 2018?

Options:

1. v South Korea
2. #» China
3. % Japan
4. » Russia

Question Number : 79 Question Id : 54592740277 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

2018 #H Fg 2er o [@eT e Hr Aarer hre

Options:

1. v ZT&ToT SIfT
2. % Tl
3. = SITITel
4. = &H

Question Number : 80 Question Id : 54592740278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who among these is a 21-time World Champion Billiard
player?

Options:

1. = Geet Sethi

2. v Pankaj Advani
3. » Ashok Sandilya
4. = Micheal Ferreira

Question Number : 80 Question Id : 54592740278 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH ¥ 21 91 &7 &g doua Wfews Wamsr wia 87

Options:

1. = 3T |



2. v Yol 3TE4QToiT

3. = 37eN<h AlfEed

4. = HTZH BWT

Arithmetic Ability1
Group Number : 5
Group Id : 5459271995
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability1
Section Id : 5459271995
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number:
Sub-Section I d:

Question Shuffling Allowed :

1
5459272393
Yes

Question Number : 81 Question Id : 54592740279 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

On dividing a number by 799, the quotient is 296 and the
remainder is 167. Find the number ?

Options:

1. » 236781
2. % 236561



3. v 236671
4. % 246891

Question Number : 81 Question Id : 54592740279 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ush TEAT i 799 & BT il W, HETH 296 & 31T oW
167 &1 I&IT AT F1?

Options:

1. = 236781
2. = 236561
3. v 236671
4. = 246897

Question Number : 82 Question Id : 54592740280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following numbers is divisible by 117

Options:

1. = 27978820
2. % 936042806
3. v 62119904
4. % 999712393

Question Number : 82 Question Id : 54592740280 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@&a # @ i O T&ar 11 I faurea §7

Options:

1. = 27978820
2. = 93604286
3. v 62119904
4. = 99971239



Question Number : 83 Question Id : 54592740281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ajay gets on an elevator on the 5th floor and rides up at the
rate of 18 floors per minute. Sandhya gets on another elevator
of the same building on the 22nd floor and rides down at the
rate of 16 floor per minute. If they continue to travel on this
rate, on which floor will their paths cross?

Options:

1. = 15th floor
2. » 19th floor
3. = 11th floor
4. v 14th floor

Question Number : 83 Question Id : 54592740281 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3T 5 a7 ATSS 9T Uk foive & aear & 3T uia fAec 18
AT hT ST & ITAT AT &1 EIT 22 a7 ATelel 9T 34T
SART & U 3T foige uT gedr § 3K 16 afera g fdee
FT 2T § & T g1 IS F 39 g7 9T AT AT SIRT &
g, a 3atehT forre forer AfGTer @ I gef?

Options:

1. = 15 dr AfSa
2. = 19 4T Aol
3. = 11 4T AfTel
4. v 14 @1 AfeTel

Question Number : 84 Question Id : 54592740282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One-fourth of Raj’s savings is equal to one-sixth of his
expenditure. If earns Rs 4800 per month, what are his savings?



Options:

1. = 1560
2. v 1920
3. = 2060
4. % 2340

Question Number : 84 Question Id : 54592740282 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IS Rl &< T Uh-diATS 38% T & Th-50 Bed & sl g
| IfE ag ufa ATE 4800 TUT FATAT &, dY 3THT Fad Thaar &7

Options:

1. = 1560
2. v 1920
3. = 2060
4. = 2340

Question Number : 85 Question Id : 54592740283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The denominator of a fraction is 1 less than thrice the
numerator. If the numerator and denominator are increased
by 2 each, then the fraction becomes 4/7. Find the original
fraction?

Options:

1. v 2/5
2. % 3f4
3. % 27
4. % 449

Question Number : 85 Question Id : 54592740283 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Uk fee FT ATSIR 3Tk 3T & AT T T 1 FA | A I
AT AR H e o 2 & &7 &A1 A9, ar Heel 4/7 &l
ST &1 HoT fiee AT ?

Options:

1. v 25
2. = 3/4
3. % 27
4. = 4/9

Question Number : 86 Question Id : 54592740284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four bells commence ringing together and rings at intervals
of 3,9, 12 and 18 seconds respectively. In 45 minutes, how
many times did they ring together from the start?

Options:

1. = 84
2. % 95
3. % 67
4.v76

Question Number : 86 Question Id : 54592740284 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TN GfedT TF [T T IF BT § 3 FAT: 3,9,12 3T 18
Tehg o TS 0T gofcl €1 45 [Aeie &, 3 4% & fahchell a”
Uk AT FiT &7

Options:

1. = 84
2. = 95




3. = 67
4. v 76

Question Number : 87 Question Id : 54592740285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Findthevalueof:1+3x1+3x1+4x1+8x2160="7
Options:

1. = 6.5
2. % 8.3
3.v7.5
4. %94

Question Number : 87 Question Id : 54592740285 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1+ 3x1T+3x71+4x71+8x 2160 =7 kR AT AT
F|
Options:

1. = 6.5
2. = 83
3. v 75
4. = 9.4

Question Number : 88 Question Id : 54592740286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the value of: {(0.0212 - 0.0108) x 1.625 =7

Options:

1. » 0.163
2. v 0.0169
3. % 0.0216
4. % 0.216



Question Number : 88 Question Id : 54592740286 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(0.0212 - 0.0108) x 1.625 = ? T HIA ATd |

Options:

1. = 0.169
2. v 0.0169
3. = 0.0216
4. = 0.216

Question Number : 89 Question Id : 54592740287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Solvefor X: (36 x4 +16x2)+{(24x3+12x5)-(19x6+X)=0

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1.14
2. 20
3.16
4.18

Question Number : 89 Question Id : 54592740287 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X % T e & (36 x 4 + 16 x 2) + (24 x 3 + 12 x 5) -
(19 x 6 + X) = 0

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 14
2. 20
3. 16
4. 18



Question Number : 90 Question Id : 54592740288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the greatest number which, while dividing 67, 87, 99 and
163, gives a remainder of 3 in each case ?

Options:

1.9
2. % 6
3. 12
4, 4

Question Number : 90 Question Id : 54592740288 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T F87 98 T&IT AT L, Sir 67, 87, 99 3T 163 =hr
Anieaa =tar &, g §X Y 3 S3Idr &7

Options:

1. = 9
2. » 6
3. % 12
4. v 4

Question Number : 91 Question Id : 54592740289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The average of first 15 prime numbers which are odd is ?

Options:

1. = 224

2. % 16.24
3. = 26.66
4, v 2527

Question Number : 91 Question Id : 54592740289 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ugell 15 39T &I 71 3iaa saw s [va &7




Options:

1. = 224
2. = 16.24
3. = 26.66
4. v 25.27

Question Number : 92 Question Id : 54592740290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

After two successive discounts of 20% and 12%, an article is
sold at Rs 4972, quote the marked price ?

Options:

1. v 7062.5
2. % 6940.6
3. = 7644.5
4. = 8100.6

Question Number : 92 Question Id : 54592740290 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

20% 3 12% T & SEMaR P& F J15, Vh T I 4972
TUT H ST ST §, 3§ Hed el §7

Options:

1. v 7062.5
2. = 6940.6
3. = /644.5
4. = 8100.6

Question Number : 93 Question Id : 54592740291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



A shopkeeper has a sale of Rs 6532, Rs 6954, Rs 7369, Rs 7680
and Rs 7941 in the past 5 months. What amount of sale {(in Rs)
must he make in the next month to keep the average sale of
the past 6 months at Rs 75007

Options:

1. = 9326
2. v 8524
3. = 8861
4. = 9067

Question Number : 93 Question Id : 54592740291 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

et 5 AL # TF FhleeR hT foehT 6532 FUV, 6954 U,
7369 TOw, 7680 3T 3 7941 UT F| TS 6 HBIATD hl
raa feshr s 7500 39T 9T §TC {W&a & [olT 3R 37Tl
Aglel & ShT UM (39T H) Tohdell slaT A1gu?

Options:

1. = 9326
2. v 8524
3. = 8867
4. = 9067

Question Number : 94 Question Id : 54592740292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In a company there are 45% IT experts and 55% HR experts. If
the 60% of IT experts and 40% of HR experts are permanent
employees, then what is the percentage of temporary
employees?

Options:

1. » 48%



2. v 51%
3. = 43%
4. = 58%

Question Number : 94 Question Id : 54592740292 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uh FUAT H 45% IT ews 3w 55% HR @ewa g1 afg
60% IT v 31T 40% T FOva TURT FEART &, ar
MY FHATRIT hT Aiderd FT §7

Options:
1. » 48%
2. v 51%
3. = 43%
4. = 58%

Question Number : 95 Question Id : 54592740293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Vijay got 20% concession on the marked price of an article
and sold it at Rs 9600 with 20% profit on the price he bought.
What was the marked price ?

Options:

1. v 10000
2. % 11400
3. = 9600
4. = 8400

Question Number : 95 Question Id : 54592740293 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



e 1 v awg & RMETd feg W 20% T REga el
T 3T ET I FTAT 9T 20% oTH F T 9600 FUT H
o9 fean [EaT #geg = o

Options:

1. v 10000
2. = 11400
3. = 9600
4. = 8400

Question Number : 96 Question Id : 54592740294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One type of liquid contains 10% of vinegar, the other contains
40% of vinegar. A container is filled with 8 parts of the first
liquid and 2 parts of the second liquid. The percentage of
vinegar in the mixture is

Options:

1. » 20%
2. % 15%
3. v 16%
4. % 25%

Question Number : 96 Question Id : 54592740294 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh Wb & ¢d H 10% YT &, g@y & 40% O 81 v
el Tg &d o 8 HIE 3N qEY &F & 2 HEN # T &
fEeor 7 R 1 ufaera rder §7

Options:

1. = 20%
2. = 15%




3. v 16%
4. = 25%

Question Number : 97 Question Id : 54592740295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If the selling price is increased 2.5 times then the profit is
quadrupled. Find the profit percent ?

Options:

1. » 125%
2. v 100%
3. % 75%

4. » 160%

Question Number : 97 Question Id : 54592740295 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ife fashar Hed 2.5 97ar ser fer Sidr g & ot =iager g
STaT &1 o uiaera AT 7

Options:

1. = 1285%
2. v 100%
3. = /5%
4. = 160%

Question Number : 98 Question Id : 54592740296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If an article is sold at 23% profit instead of 18% profit, the
shopkeeper will earn Rs 210 more. What is cost price of the
article ?

Options:

1. = Rs 3600



2. » Rs 5700
3. v Rs 4200
4. = Rs 6300

Question Number : 98 Question Id : 54592740296 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ITE T T R 18% TH o ST 23% T UL ST S &,
ar gehTeie 210 90 3Tk SFHATTIT] aEd T ST Hed

g7

Options:

1. » 3600 ®9¢
2. = 5700 34UC¢
3. v 4200 349U
4. = 6300 T9UC

Question Number : 99 Question Id : 54592740297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A fruit vendor purchase 20 dozen apples at Rs 20 per dozen.
1/4th of the apples were rotten so had to be thrown away. 3/5
th was sold at Rs 30.50 per down. At what price per dozen
should he sell the rest to make a 20% profit.?

Options:

1. v Rs 34.25
2. » RS 31.65
3. % Rs 20.15
4. » Rs 38.95

Question Number : 99 Question Id : 54592740297 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Tk el Tashdl 20 &oe A I 20 39T ufy el o =ear &
1/4 Q9 ¥ a7 & g@TaT 30 hew T3 g/l 3/5 af 30.50
T i s f&eRTl 20% T3 AT & e 38 A9 1 gfa
Zotel g HTHT T 9T TTRT?

Options:

1. v 34.25 34U
2. = 31.65 ¥49U¢
3. » 29.15 ¥9¢
4. = 38.95 34U

Question Number : 100 Question Id : 54592740298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The proportion of copper and zinc in brass is in the ratio of
3:5. How much Zinc will be there in a mixture of 96 Kg of
brass?

Options:

1. = 54 Kg
2. = 48 Kg
3.= 72 Kg
4. v 60 Kg

Question Number : 100 Question Id : 54592740298 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

didel # e 3T SEAT T 37T 3:5 F 3Hequrd H &1 96 kg
UIdel o AT A Tohdar STEAT B1EM?

Options:

1. = 54 Kg
2.« 48 Kg




3. = 72 Kg

4. v 60 Kg
Arithmetic Ability?2
Group Number : 6
Group Id: 5459271996
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
Arithmetic Ability?2
Section Id : 5459271996
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272394
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 54592740299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum is divided between A, B and C. A gets a rupee. B gets 60
paisa and C gets 45 paisa. If B share was Rs 36, then what was
the total amount ?

Options:

1. x 106
2. v 123



3.+ 114
4. % 134

Question Number : 101 Question Id : 54592740299 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk fer S A, B 3T C & fIg Awiea ar amar &1 A &
Ush $UU THolaT &1 B =T 60 U9 THed & 3w C &1 45 849
fera &1 afe B &1 fdear 36 w90 o, A7 sher qfer Far ofr?

Options:

1. = 106
2. v 123
3. % 114
4. » 134

Question Number : 102 Question Id : 54592740300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

250 litres of a mixture contains milk and water in the ratio
7:3. How much water should be added to the mixture so that
the ratio of milk and water become 4:3 ?

Options:

1. v 56.25 litres
2. » 40.75 litres
3. = 30.5 litres
4. % 25.0 litres

Question Number : 102 Question Id : 54592740300 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

fFrsror & 250 ofeT # 7:3 & 3equld H g 3N 91ar g1 fHsor
A fordar Tl SsT ST =1fge aifsr ga 3T Imeil 1 37T 4:
3 & FTU?

Options:




1. v 56.25 @eX
2. % 40.75 ¥ex
3. = 30.5 @llex
4. = 25.0 ollex

Question Number : 103 Question 1d : 54592740301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

At what simple interest rate percent per annum will a sum of
money be doubled in 16 years ?

Options:

1. = 5.85%
2. % 6.75%
3. v 6.25%
4. % 5%

Question Number : 103 Question Id : 54592740301 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

16 a¥ A ufd a¥ T ATUROT SIS T & O ST gem?

Options:

1. = 5.85%
2. = 6.75%
3. v 6.25%
4. = 5%

Question Number : 104 Question Id : 54592740302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The simple interest accrued on an amount of Rs 45000 at the
end of three years is Rs 17550. What would be the compound
interest accrued on the same sum of money at the same rate
for the same term (in approx Rs) ?



Options:

1. » 16980.67
2. % 18760.24
3. = 200640.28
4. v 19930.37

Question Number : 104 Question 1d : 54592740302 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT aul & 3T H 45000 FYT FT TRT 9T TId TTTROT AT
17550 9T &| AT 3G & o0 AT &7 9T TATT &7 3
(F9¢ H) GATST AR 9T 3iToid Tehgie sATeT AT em?

Options:

1. = 16980.67
2. = 18760.24
3. = 20640.28
4. v 19930.37

Question Number : 105 Question 1d : 54592740303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of money placed at compound interest will double
itself in 3 years, then in how many years will be make itself 8
times the amount ?

Options:

1. v 9 years
2. % ‘] years
3. % 12 years
4. = 20 years

Question Number : 105 Question Id : 54592740303 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



THITE ST T U Jadrfer 3 anl & eer g S &, ar
forcal awl A TR 8 ager &r Swan?

Options:

1. v 9 @y
2. = 7y
3. % 12 ay
4. = 20 Ay

Question Number : 106 Question Id : 54592740304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train’s average speed 1s 96 km/h but is reduced to 20 m/s
due to stoppages. For how much time does the train stop in an
hour?

Options:

1. = 8 mins

2. % 10 mins
3. = 18 mins
4. v 15 mins

Question Number : 106 Question 1d : 54592740304 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tk Yo9MaT hr Ed aTd 96 km/h &, oifchd o&Id & hIOT
=8 20 mfs deh =eT TIT T &1 IGHEET U " H fohcdel T
F forT TahdT &7

Options:

1. » 8 fA«C
2. = 10 e
3. « 18 THeC




4. v 15 T8«

Question Number : 107 Question Id : 54592740305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

A train is 160 m in length passes a person standing on the
platform. The speed of the train was 54 kmph. How much
time it took in doing so?

Options:

1. = 8 (1/2) sec
2. % 9(3/4) sec
3. v 10 (2/3) sec
4. % 12 (5/6) sec

Question Number : 107 Question Id : 54592740305 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

160 m 8T Teh ISl Telchid Y H2 Ush did i TR
LT §1 ISEMET =hl 7T 54 kmph 2T ©GT & & Thaar

AT ofd?
Options:
1. = 8 (1/2) Qs

2.« 9 (3/4) QT
3. v 10 (2/3) s
4. = 12 (5/6) Qg

Question Number : 108 Question Id : 54592740306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A train 480 m long is running at a speed of 24 kmph. The time
taken by it to cross a bridge of 160 m long is?

Options:

1. = 1 min
2. v 1 min 36 sec



3. % 2 min 13 sec
4. = 1 mins 54 sec

Question Number : 108 Question Id : 54592740306 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

480 m o&T YEEMET 24 kmph T W & gig W@ &1 160 m

oS Tl FI IR Fla H 38 hddl &I T9e?

Options:

1. = 1 fhelc

2. v 1 fAdc 36 @hg
3. = 2 fAec 13 93
4. = 1 fA<lc 54 A3

Question Number : 109 Question Id : 54592740307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R can do a piece of work in 4 days. S can do it in 6 days. With
T's assistance they were able to complete in 2 days. If T were
to work alone how much time will he require to complete the
whole work by himself ?

Options:

1. = 20 days
2. = 11 days
3. = 16 days
4. v 12 days

Question Number : 109 Question Id : 54592740307 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R 4 ol # Uk hTH T bl &1 S 3T 6 &l H T ohdl &
| T &7 @gar @ 9 2 el # g e # GerH oA Ffe T R
3TRol RTH HTa §31Ta’ra%.’3'@rﬁ«—dﬁmﬁq;\rraﬁ?rr?

Options:




« 20 TaeT
« 11 Rt
« 16 Taer
v 12 Tea

Question Number : 110 Question Id : 54592740308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R is thrice as good as S and together they can finish the work
in 15 days. In how many days would R take to complete the
work ?

Options:

1. = 15 days
2. = 24 days
3. v 20 days
4. = 18 days

ol

Question Number : 110 Question Id : 54592740308 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

R,Sﬁ%ﬂﬂgﬁlﬂ%ﬁmﬁa‘ﬁﬁa’fﬁqam T
Fhd &1 R T FF W@ wa & el &t w9iar?

Options:

1. = 15 feaT
2. % 24 f&T
3. v 20 T
4. % 18 Tt

Question Number : 111 Question Id : 54592740309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




45 men working 8 hours a day van dig 30 m deep. How many
extra men would be required to dig a depth of 60 m in 4
hours ?

Options:

1. = 115 men
2. * 125 men
3. * 130 men
4. v 135 men

Question Number : 111 Question Id : 54592740309 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

45 3T gfdfce 8 e F1A FT 30 m I ZTeTs A &l 4
gel # 60 m Tk I TGS Fars Fa K fAv Fhder sifaRerd
JEST R 3TRYRAT BefT?

Options:

1. = 115 3MTeAY
2. = 125 3EHAT
3. * 130 37EAYT
4. v 135 37EAT

Question Number : 112 Question Id : 54592740310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Find the area of a parallelogram whose base is 26 cm and
height is 14 cm?

Options:

1. v 364 sq cm
2. % 326 sq cm
3. % 298 sqcm
4. % 268 sq cm



Question Number : 112 Question Id : 54592740310 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ueh HATAL Tqelel T &A% AT F, TSidhT MU 26 cm

IR FTE 14 cm §7

Options:

1. v 364 sq cm
2. » 326 sq cm
3. = 298 sq cm
4, = 268 sq cm

Question Number : 113 Question 1d : 54592740311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A cyclist cycles along the boundary of a rectangular park at
the rate of 18 kmph and completes one full round in 10
minutes. If the ratio between the length and breadth of the
park is 5:3, then its area is how much?

Options:

1. = 487235.25 sq m
2.v 527343.75 s m
3. » 506873.65 sqm
4. = 556648.15 sq m

Question Number : 113 Question 1d : 54592740311 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Uch ATsfehel TTeleh Teh HTAATRR UTeh bl STAT 9T 18 kmph T
AfT & Asfere Tolrar & 3R Teh Ty 10 THee & [T I &
| e ot S oS AT =SS & A FT eqarT 5:3 & A
3AT SThel Tohddl &7

Options:

1. = 487235.25 sq m




2. v 52734375 sq m
3. = 506873.65 sq m
4. = 556648.15 sq m

Question Number : 114 Question 1d : 54592740312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The radius of a wheel is 13.8 cmm. What distance is covered by
the wheel making 490 revolutions ?

Options:

1. » 38740 cm
2. v 42504 cm
3. = 46598 cm
4. %= 50360 cm

Question Number : 114 Question Id : 54592740312 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Teh UaT FT Bear 13.8 cm &1 Ifg afgar 490 T=hT e
g, dr ag el ot a3 Iar 87

Options:

1. = 38740 cm
2. v 42504 cm
3. = 465898 cm
4. = 50360 cm

Question Number : 115 Question 1d : 54592740313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the given pie-chart of population, approx what part of total
percentage does villages A and F together form ?

POPULATION OF VILLAGES

G, 45

A, 95

E, 80

B, 35

L, 40 ' ¢, 20
D, 45

Options:

1. = 52.41%
2. v 48.61%
3. % 42.29%
4. % 61.27%

Question Number : 115 Question Id : 54592740313 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STTEEIT & U a0 qIg-a1E & ofarsyer Fol Yicrerd T forca
feeaT g A 30T F e §dra 87

Imar B ITEET

G, 45

E, 40 C, 20
D, 45

Options:

1. = 52.41%



2. v 48.67%
3. = 42.29%
4. = 61.27%

Question Number : 116 Question Id : 54592740314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given pie-chart what percentage does the cost of
material form a part of the revenue earned by the company ?

REVENUE AND CO5TS
Interest
Delivery Charges, 100

Charges, 220

Wages, 100

Revenue, 1200

Cost of
materials, 500

Options:

1. v 41.67%
2. % 42.23%
3. = 39.67%
4. % 37.23%

Question Number : 116 Question Id : 54592740314 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few v ur$-=né & Hefasd AT Fr AwRIT Huelr ggnT e
IToIEd T Ueh Teedr forderr dlicrerd g7

g amzmrm.

ek , 220 100
o |, &0

e , 100

1200
et &
AR, 500

Options:

1. v 41.67%
2. % 42.23%
3. = 39.67/%
4. = 37.23%

Question Number : 117 Question Id : 54592740315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given pie-chart, if the cold drink is sold at Rs 180,
what is the earned by the company ?

COSTSTRUCTURE OF A SOFT DRINK
Company Transportation,
mflfﬂ, B% 15%

Retailer
Margin, 20%

Distributor
Margin, 5%
Advertising, 4% _

Drawing and

treating water,
8%

ackaging, 40%

Options:



1. = 12.2
2. v 144
3.% 259
4. = 18.6

Question Number : 117 Question Id : 54592740315 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

feu v ug-a1¢ # Ifg 31 9 180 H9© A <7 Sdr &, ar
FUaT hT Hd T Tohdar &7

offaer 9 Y deTa EX=ET

s mTT , 8%

qfEE |

. A0%

Options:

1. = 12.2
2. v 144
3. = 259
4. = 18.6

Question Number : 118 Question Id : 54592740316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



From the given bar chart, in which years was the import
more than the average imports of the past 5 years ?

250

Imports
g8 &

S

=]

2014 2015 2016 2017 2018
Year

Options:

1. » 2015, 2016, 2018
2. » 2014,2015, 2018
3. = 2014,2016, 2017
4. v 2016, 2017, 2018

Question Number : 118 Question Id : 54592740316 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fov a0 9 °9¢ A, forg a¥ & 3T Pse 5 ast & 3iadg
MEOTT 8 3SR oa17?

250

E 150
100

50

2014 2015 2016 2017 2018

g

Options:



1. = 2015, 2016, 2018
2. = 2014,2015, 2018
3. = 2014,2016, 2017
4. v 2016, 201/, 2018

Question Number : 119 Question Id : 54592740317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given chart, by how much did the jute production
fall from 2013 to 2015 and how much did it rise from 2015 to
20187

400
350 -
300

€ 250

340
s 200 210
= 200 -
150 150

£ 150 120

100 -

Eﬂ {

0 - : : : '

2013 2014 2015 2016 2017 2018

Year

Options:

1. = 50% fall and 200% rise

2. » 45% fall and 196.48% rise
3. v 40% fall and 188.33% rise
4. » 60% fall and 176.67% rise

Question Number : 119 Question Id : 54592740317 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



few arw =1 A, 2013 § 2015 T S 3cded A fohelr FRmEe
S 3T I§ 2015 & 2018 I Tohdell &6 IT?

340
200 210
| 150 150
[ 150 120
100 -
50 - I
ﬂ !

2013 2014 2015 2016 2017 2018
ag

Options:

1. = 50% 1 e 3T 200% & gi&

2. 45% 1 fNTae 3T 196.48% T gfy
3. v 40% 1 fonTae 3T 188.33% & gfg
4. = 60% 1 fNTae 3T 176.67% & gfg

Question Number : 120 Question Id : 54592740318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

From the given chart which year has observed the most
growth in foreign exchange reserves and by what percent ?

. 6000
o

P

&gm
£ 2000

1000

Foreign Exchan

Options:

1. v 2015-16 and 40% increase
2. % 2016-2017 and 40% increase



3. % 2015-2016 and 20 % increase
4, = 2013-2014 and 40% increase

Question Number : 120 Question Id : 54592740318 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fev a7 Aré & IeEN | a¥ # forcel dfcrerd T & &
ﬁ?ﬁ%ﬁgarmmﬁma%q‘%gé‘?

Options:

1. v 2015-16 3T 40% &

2. » 2016-2017 3R 40% 3f&
3. » 2015-2016 3R 20% 3f&
4. = 2013-2014 3R 40% 3T

General English1
Group Number : 7
Group Id: 5459271997
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Englishil

Section Id : 5459271997

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section I1d: 5459272395
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54592740319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) The doctor made/ (B) a dangerously mistake which / (C)
cost many lives./ (D) No error

Options:

1.« A
2.v DB
3.5 C
4, %]

Question Number : 121 Question Id : 54592740319 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) The doctor made/ (B) a dangerously mistake which /

(C) cost many lives.! (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 122 Question Id : 54592740320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) He is the most strongest/ {B) personality prescribed / (C) in
history./ (D) No error

Options:

1.vA
2.% B
3.%C
4. =D



Question Number : 122 Question Id : 54592740320 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) He i1s the most strongest/ (B) personality prescribed /
(C) In history./ (D) No error

Options:

1. v A
2. » B
3. = C
4. = D

Question Number : 123 Question Id : 54592740321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) Although Manish / (B) jumped aside but / (C) the stone hit
him./ (D) No error

Options:

1. = A
2.v B
3. = C



4. %D

Question Number : 123 Question Id : 54592740321 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) Although Manish / (B) jumped aside but / (C) the stone
hit him./ (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 124 Question Id : 54592740322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is {ree
from error, select the "No error” option.

(A) There is no question/ (B) of Manish’s failing / (C) in the
assignment./ (D) No error

Options:

1. = A
2. v B



3. C
4. %D

Question Number : 124 Question Id : 54592740322 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence I1s free from error, select the "No error" option.

(A) There is no question/ (B) of Manish's failing / (C) in the

assignment./ (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 125 Question 1d : 54592740323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may have
an error. Find out which part of the sentence has an error
and click the button corresponding to it. If the sentence is free
from error, select the "No error” option.

(A) After reaching home/ (B) he entered into the kitchen / (C)
next to my room./ (D) No error

Options:

1. = A



2.v B
3.5 C
4 =D

Question Number : 125 Question Id : 54592740323 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following statement, one part of the sentence may
have an error. Find out which part of the sentence has an
error and click the button corresponding to it. If the

sentence Is free from error, select the "No error" option.

(A) After reaching home/ (B) he entered into the kitchen /

(C) next to my room./ (D) No error

Options:

1. = A
2. v B
3. = C
4. = D

Question Number : 126 Question Id : 54592740324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Sakshi has been here (since) 10 am.

Options:

1. = from
2. % 1In
3. = with



4. v No correction

Question Number : 126 Question Id : 54592740324 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

Sakshi has been here (since) 10 am.

Options:

1. = from

2. % 1n

3. % with

4. v No correction

Question Number : 127 Question Id : 54592740325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

Cheetah is the (most fast) animal in the world.

Options:

1. v fastest

2. » more fast

3. = fast

4. = No correction

Question Number : 127 Question Id : 54592740325 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Replace the words in the bracket from the set of options

given.

Cheetah 1s the (most fast) animal in the world.

Options:

1. v fastest
2. * more fast

3. = fast

4. = No correction

Question Number : 128 Question Id : 54592740326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

I need your (advises) on which bike to buy.

Options:

1. v advice

2. » advise

3. = adviced

4. » No correction

Question Number : 128 Question Id : 54592740326 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

| need your (advises) on which bike to buy.

Options:

1. v advice



2. = advise
3. = adviced

4. = No correction

Question Number : 129 Question Id : 54592740327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options given.

(Although) Kailash didn't work hard, he didn’'t pass the exam.

Options:

1. = Despite

2. = Inspite of

3. v Since

4. = No correction

Question Number : 129 Question Id : 54592740327 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

(Although) Kailash didn't work hard, he didn't pass the exam.

Options:

1. = Despite
2. * Inspite of
3. v Since

4. = No correction

Question Number : 130 Question 1d : 54592740328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Replace the words in the bracket from the set of options given.

He will (have exercising) an hour at 5:00 a.m.

Options:

1. = have exercise
2. v be exercising
3. » had exercised
4. = No correction

Question Number : 130 Question Id : 54592740328 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Replace the words in the bracket from the set of options

given.

He will (have exercising) an hour at 5:00 a.m.

Options:

1. = have exercise
2. v be exercising
3. * had exercised

4. = No correction

Question Number : 131 Question Id : 54592740329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

She closed the store because the of customers made
it uneconomical to operate.

Options:

1. v paucity




2. » pathos
3. = pariah
4. = pellucid

Question Number : 131 Question Id : 54592740329 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

She closed the store because the of customers

made It uneconomical to operate.

Options:

1. v paucity
2. % pathos
3. = pariah
4. = pellucid

Question Number : 132 Question Id : 54592740330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

I cannot understand why he has so many admirers if he is the
you say he is.

Options:

1. v reprobate
2. = replete
3. # reprove
4. = reckon

Question Number : 132 Question Id : 54592740330 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with appropriate word.

| cannot understand why he has so many admirers If he Is

the you say he Is.

Options:

1. v reprobate

2. = replete
3. % reprove

4. = reckon

Question Number : 133 Question Id : 54592740331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The rich youth cynically declared that the for all
speeding tickets was a big enough bribe.

Options:

1. = palliate
2. = pallid
3. v panacea
4. = pariah

Question Number : 133 Question Id : 54592740331 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The rich youth cynically declared that the for all

speeding tickets was a big enough bribe.

Options:



1. = palliate
2. = pallid
3. v panacea
4. = pariah

Question Number : 134 Question Id : 54592740332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The teacher hoped the retreat would increase the
among the feuding students.

Options:

1. v camaraderie
2. = buffoonery
3. = benefactor
4. = brandish

Question Number : 134 Question Id : 54592740332 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The teacher hoped the retreat would increase the

among the feuding students.

Options:

1. v camaraderie
2. % buffoonery
3. * benefactor
4. = brandish




Question Number : 135 Question 1d : 54592740333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Her nature sometimes offended her more mature
friends.

Options:

1. v puerile

2. % protean

3. = pulchritude
4. = primeval

Question Number : 135 Question 1d : 54592740333 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Her hature sometimes offended her more mature

friends.

Options:

1. v puerile

2. % protean

3. = pulchritude
4, = primeval

Question Number : 136 Question 1d : 54592740334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The words to the song are , as the singer tends to
mumble.




Options:

1. = drub

2. = embellish
3. » entangle
4. v elusive

Question Number : 136 Question 1d : 54592740334 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

The words to the song are , as the singer tends

to mumble.

Options:

1. = drub
2. = embellish
3. = entangle

4. v elusive

Question Number : 137 Question Id : 54592740335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

What did you do you were in Singapore?

Options:

1. = during
2. » how
3. = for

4. v while

Question Number : 137 Question 1d : 54592740335 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fill in the blanks with appropriate word.

What did you do you were In Singapore?

Options:

1. = during
2. * how

3. = for

4. v while

Question Number : 138 Question Id : 54592740336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Manisha offered a of excuses for her behaviour.

Options:

1. = portent

2. = platitude
3. v plethora
4. = primeval

Question Number : 138 Question Id : 54592740336 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fill in the blanks with appropriate word.

Manisha offered a of excuses for her behaviour.

Options:

1. = portent

2. % platitude



3. v plethora

4. = primeval

Question Number : 139 Question Id : 54592740337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical
order of the parts which form a coherent sentence.

Large stock of population

P : possesses reasonable levels of health
Q : that it is trained and educated

R : on sound lines and

S . can be a precious asset provided

Options:

1. = PQSR
2. = QRSP
3. v SQRP
4. = RSQP

Question Number : 139 Question Id : 54592740337 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical

order of the parts which form a coherent sentence.

Large stock of population

P : possesses reasonable levels of health
Q : that 1t Is trained and educated

R : on sound lines and

S : can be a precious asset provided

Options:

1. = PQSR
2. = QRSP
3. v SQRP
4. = RSQP

Question Number : 140 Question 1d : 54592740338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical
order of the parts which form a coherent sentence.

The rapid progress of the

P : its full fruits in the generation of
Q : fell mostly between 1500-1525

R : masters, whose mature works

S :arts in the sixteenth century bore

Options:

1. v SPRQ



2. » QRPS
3. » RQPS
4. = PSQR

Question Number : 140 Question Id : 54592740338 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The questions below consist of a set of labelled parts of a
sentence. Out of four options given, select the most logical

order of the parts which form a coherent sentence.

The rapid progress of the

P : its full fruits in the generation of
Q : fell mostly between 1500-1525
R : masters, whose mature works

S : arts In the sixteenth century bore

Options:
1. v SPRQ
2. = QRPS
3. » RQPS
4. = PSQR
General English?
Group Number : 8
Group Id : 5459271998
Group Maximum Duration : 0
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54592740339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question below consist of a set of labelled sentences. Out
of four options given, select the most logical order of the
sentences which form a paragraph.

This is a story of a tender heroine shut up in a gloomy castle
P : By the light of a flickering candle, she reads, with chills
and shivering, the record of long buried crimes.

() : There is the usual 'goose flesh’ accompaniments of
haunted rooms, secret panels and a subterranean passage
leading to a vault, dark and creepy as a tomb.

R : At the psychological moment, the little candle suddenly
goes out.

S : Here the heroine finds a chest with blood-stained papers.
Then out of the darkness, a cold , clammy hand - ugh!

Options:

1. = PSQR



2. = RSQP
3. = SPQR
4. v QSPR

Question Number : 141 Question Id : 54592740339 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The question below consist of a set of labelled sentences.
Out of four options given, select the most logical order of

the sentences which form a paragraph.

This 1s a story of a tender heroine shut up in a gloomy
castle

P : By the light of a flickering candle, she reads, with chills
and shivering, the record of long buried crimes.

Q : There I1s the usual 'goose flesh' accompaniments of
haunted rooms, secret panels and a subterranean passage
leading to a vault, dark and creepy as a tomb.

R : At the psychological moment, the little candle suddenly
goes out.

S : Here the heroine finds a chest with blood-stained papers.

Then out of the darkness, a cold , clammy hand - ugh!

Options:

1. = PSQR
2. = RSQP
3. = SPQR
4. v QSPR



Question Number : 142 Question 1d : 54592740340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the MEANING of the given word.

Demolish

Options:

1. v Wreck
2. # Protest
3. = Indict

4. = Loathe

Question Number : 142 Question 1d : 54592740340 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the MEANING of the given word.

Demolish

Options:

1. v Wreck
2. = Protest
3. = Indict

4. = Loathe

Question Number : 143 Question 1d : 54592740341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the MEANING of the given word.

Nimble



Options:

1. = Sluggish
2. v Prompt
3. = Harass
4. = Joint

Question Number : 143 Question 1d : 54592740341 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best

expresses the MEANING of the given word.

Nimble

Options:

1. = Sluggish
2. v Prompt
3. = Harass

4. = Joint

Question Number : 144 Question Id : 54592740342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which best
expresses the MEANING of the given word.

Munificent

Options:

1. = Forfeit
2. ® Scarce
3. = Bright
4. v Liberal



Question Number : 144 Question Id : 54592740342 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

QOut of the four alternatives, choose the word which best

expresses the MEANING of the given word.

Munificent
Options:
1. = Forfelt

2. ® Scarce
3. = Brnight
4. v Liberal

Question Number : 145 Question Id : 54592740343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which 18
OPPOSITE in meaning to the given word.

Equivocal

Options:

1. » Hazy
2. v Obvious
3. = Obstacle
4. = Keen

Question Number : 145 Question Id : 54592740343 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Equivocal

Options:

1. = Hazy
2. v Obvious
3. # Obstacle
4. = Keen

Question Number : 146 Question Id : 54592740344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which is
OPPOSITE in meaning to the given word.

Haughty

Options:

1. = Irritate
2. = Peril

3. v Humble
4. = Arrogant

Question Number : 146 Question Id : 54592740344 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Out of the four alternatives, choose the word which Is
OPPOSITE in meaning to the given word.

Haughty

Options:



1. = lrritate
2. = Penl

3. v Humble
4. % Arrogant

Question Number : 147 Question Id : 54592740345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. v Antediluvian
2. » Antideluvain
3. = Antidiluvain
4. = Antedelivuan

Question Number : 147 Question 1d : 54592740345 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:

1. v Antediluvian
2. = Antideluvain
3. = Antidiluvain

4. = Antedelivuan

Question Number : 148 Question 1d : 54592740346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:



1. = Garrolitious
2. v Garrulous
3. = Garutous
4. = Garrilious

Question Number : 148 Question Id : 54592740346 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt

correctly. Choose the correctly spelt word.

Options:

1. = Garrolitious
2. v Qarrulous
3. % Garutous

4. = Garrilious

Question Number : 149 Question Id : 54592740347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word is spelt
correctly. Choose the correctly spelt word.

Options:

1. » Partinacous
2. » Pertenacious
3. = Pertiniuous
4. v Pertinacious

Question Number : 149 Question 1d : 54592740347 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four words are given, out of which only one word Is spelt

correctly. Choose the correctly spelt word.

Options:



1. = Partinacous
2. = Pertenacious
3. = Pertinluous
4. v Pertinacious

Question Number : 150 Question Id : 54592740348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Not playing with a full deck

Options:

1. = A job or activity that is very boring
2. » Something that happens very rarely
3. v Someone who is mentally 11l

4. » Someone who have no manners

Question Number : 150 Question Id : 54592740348 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What does the following idiom mean?

Not playing with a full deck

Options:

1. = A Jjob or activity that 1s very boring
2. » Something that happens very rarely
3. v Someone who I1s mentally Ill

4. = Someone who have no manners

Question Number : 151 Question 1d : 54592740349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



What does the following idiom mean?

Show a clean pair of heels

Options:

1. = To be very nervous
2. » To keep at a distance
3. = To refuse

4. v To run away

Question Number : 151 Question Id : 54592740349 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Show a clean pair of heels

Options:

1. * To be very nervous
2. = To keep at a distance
3. = To refuse

4. v To run away

Question Number : 152 Question Id : 54592740350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Hit the nail on the exact thing

Options:

1. = To be highly successful
2. = To get into an argument
3. = To hit someone hard



4. v To do or say the exact thing

Question Number : 152 Question Id : 54592740350 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the following idiom mean?

Hit the nail on the exact thing

Options:

1. = To be highly successful
2. = To get Into an argument
3. = To hit someone hard

4, v To do or say the exact thing

Question Number : 153 Question 1d : 54592740351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which 1s the best substitute of the words/sentences.

A partner in crime

Options:

1. v Accomplice
2. = Acquittal
3. = Amnesty
4. = Almanac

Question Number : 153 Question 1d : 54592740351 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the

words/sentences.

A partner in crime

Options:

1. v Accomplice
2. % Acquittal
3. ®* Amnesty
4. = Almanac

Question Number : 154 Question Id : 54592740352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the words/sentences.

A group of followers hired to applaud at a performance

Options:

1. v Claque
2. » Caucus
3. = Brood

4. = Cortege

Question Number : 154 Question Id : 54592740352 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the

words/sentences.

A group of followers hired to applaud at a performance

Options:

1. v Claque
2. » Caucus
3. * Brood

4. = Cortege

Question Number : 155 Question Id : 54592740353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the following question, out of four alternatives, select the
alternative which is the best substitute of the words/sentences.

A political system based on government of men by God

Options:

1. = Monarchy

2. v Thearchy

3. = Plutocracy

4. = Gerontocracy

Question Number : 155 Question Id : 54592740353 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



In the following question, out of four alternatives, select the
alternative which i1s the best substitute of the

words/sentences.

A political system based on government of men by God

Options:

1. = Monarchy
2. v Thearchy
3. # Plutocracy

4. = (gerontocracy

Sub-Section Number: 2
Sub-Section 1d: 5459272397
Question Shuffling Allowed : Yes

Question Id : 54592740354 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

QQuestion Label : Comprehension



Read the passage given below and answer the following
questions.

It was the design of Angelo Riccl and Joe Czanek and Manuel
Silva to call on the Terrible Old Man. This old man dwells all
alone in a very ancient house on Water Street near the sea,
and is reputed to be both exceedingly rich and exceedingly
feeble; which forms a situation very attractive to men of the
profession of Messrs. Riccl, Czanek, and Silva, for that
profession was nothing less dignified than robbery.

The inhabitants of Kingsport say and think many things about
the Terrible Old Man which generally keep him safe from the
attention of gentlemen like Mr. Ricci and his colleagues,
despite the almost certain fact that he hides a fortune of
indefinite magnitude somewhere about his musty and
venerable abode. He is, In truth, a very strange person,
believed to have been a captain of East India clipper ships in
his day; so old that no one can remember when he was
young, and so taciturn that few know his real name. Among
the gnarled trees in the front yard of his aged and neglected
place he maintains a strange collection of large stones, oddly
grouped and painted so that they resemble the idols in some
obscure Eastern temple. This collection {frightens away most
of the small boys who love to taunt the Terrible Old Man
about his long white hair and beard, or to break the
small-paned windows of his dwelling with wicked missiles;
but there are other things which frighten the older and more
curious folk who sometimes steal up to the house to peer in
through the dusty panes.



Sub questions

Question Number : 156 Question Id : 54592740355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where did the old man live?

Options:

1. v Kingsport
2. = Radison

3. = Queensport
4. = Riverside

Question Number : 157 Question Id : 54592740356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What are the intentions of Riccl, Czanek and Silva?

Options:

1. = To take revenge from the old man
2. = To taunt the old man

3. = To help the old man

4. v To rob the old man

Question Number : 158 Question 1d : 54592740357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the old man’s profession when he was young?

Options:

1. = A robber

2. v A ship’s captain
3. = A professor

4. = A pardener

Question Number : 159 Question 1d : 54592740358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Terrible Old Man used to collect strange

Options:

1. = missiles




2. % COINS
3. ® gems
4. v stones

Question Number : 160 Question Id : 54592740359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of the word 'taciturn’ as used in the
passage?

Options:

1. * cunning person
2. ®= brave person

3. v reserved person
4. = coward person

Question Id : 54592740354 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the passage given below and answer the following

questions.

It was the design of Angelo Ricci and Joe Czanek and
Manuel Silva to call on the Terrible Old Man. This old man
dwells all alone in a very ancient house on Water Street
near the sea, and is reputed to be both exceedingly rich
and exceedingly feeble; which forms a situation very
attractive to men of the profession of Messrs. Ricci,
Czanek, and Silva, for that profession was nothing less

dignified than robbery.

The inhabitants of Kingsport say and think many things
about the Terrible Old Man which generally keep him safe
from the attention of gentlemen like Mr. Ricci and his
colleagues, despite the almost certain fact that he hides a
fortune of indefinite magnitude somewhere about his musty
and venerable abode. He Is, In truth, a very strange person,
believed to have been a captain of East India clipper ships
in his day; so old that no one can remember when he was
young, and so taciturn that few know his real name. Among
the gnarled trees in the front yard of his aged and
neglected place he maintains a strange collection of large
stones, oddly grouped and painted so that they resemble
the idols in some obscure Eastern temple. This collection
frightens away most of the small boys who love to taunt the
Terrible Old Man about his long white hair and beard, or to
break the small-paned windows of his dwelling with wicked
missiles; but there are other things which frighten the older
and more curious folk who sometimes steal up to the house

to peer in through the dusty panes.



Sub questions

Question Number : 156 Question Id : 54592740355 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where did the old man live?

Options:

1. v Kingsport
2. » Radison
3. = Queensport

4. = Riverside

Question Number : 157 Question Id : 54592740356 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What are the intentions of Ricci, Czanek and Silva?

Options:

1. = To take revenge from the old man
2. = To taunt the old man
3. » To help the old man

4. v To rob the old man

Question Number : 158 Question Id : 54592740357 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What was the old man's profession when he was young?

Options:

1. = A robber
2. v A ship's captain
3. = A professor

4, = A gardener

Question Number : 159 Question 1d : 54592740358 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The Terrible Old Man used to collect strange

Options:

1. = missiles
2. % coIins
3. ® gems

4. v stones

Question Number : 160 Question Id : 54592740359 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What Is the meaning of the word 'taciturn' as used in the

passage”

Options:

1. *= cunning person
2. » brave person
3. v reserved person

4. = coward person

General Hindil

Group Number : 9
Group Id: 5459271999
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
Isthis Group for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi1l



Section 1d : 5459271999

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 5459272398
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 54592740360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTead uy #, IR aeul § T, 39 [Adey & ad= & S 1T M7 9
& gt 4TE faese @ TadeT gl

dRterd

Options:

1. * R + 3T
2. % @R + e
3. = GIF + &l
4. v GR + 3

Question Number : 161 Question Id : 54592740360 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
Sif iU 910 ofeg o Har Oy fa<oe &1 [dheq &

CINEAR)

Options:

1. = AR + 38
2. = GRI + ST
3. % g% + 2T



4. v AT + 3

Question Number : 162 Question Id : 54592740361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

FEeiied Uy #, IR ddeul #§ 4, 39 [Admed &7 Ida & I Uedd ¥ &4

STee, T Tgl [adheT g

Options:

1. » GO
2. % Tersamg
3. v Th[AC
4, = AT

Question Number : 162 Question Id : 54592740361 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
Sl AT & Sl s HT Hel [dhed &l

Options:

1. = UAg
2. = Tgeamm
3. ¢ Lhlde

4. » THATT

Question Number : 163 Question Id : 54592740362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HgTerRd Usf &, IR eyl § ¥, 39 Tddhey T a9 o ST e M7 e
T Gg! detd &7 ATl e gl

Jtcht

Options:

1. = dTefld
2. v TR



3. % UTgd
4, = g3T

Question Number : 163 Question 1d : 54592740362 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFaf@a wed H, IR AFedr # &, 39 TFed FT TTT
S T&T 970 ofee &1 Hal d&d ®9 grer [dsed &l

YBh I

e
Options:

1. = drelld
2. v OIET

3. * TTge
4. = 3T

Question Number : 164 Question Id : 54592740363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgfeliad v , IR foraeul # &, 39 Awew @1 a3+ B St Tgarad
< BT Gg! Tadet gl

Options:

1. » &

2. = gTdT
3. v g
4. % =T

Question Number : 164 Question Id : 54592740363 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST GHgATS FaAT HI Hal Tdshed &

Options:

1. % =Y




Question Number : 165 Question Id : 54592740364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEeiEd Uy #, I [ddedl # ¥, 39 [dheT &7 I e ST TohdT & A
Aol gl Telcho gl

G TR dg g SATqi

Options:

1. v Qeieptielch TshaT

2. % ATYT
3. % WU TohdT

4. » GYh ThdT

Question Number : 165 Question Id : 54592740364 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
ST ToRaT & g areT H@ET Aehed &l

HTAT SAlehy G@ a@lel ST

Options:

1. v YdehiTelsr TehaT

o,

2. % SATHYUTT
3. = OO TohdT
4. = FgFd foram

Question Number : 166 Question Id : 54592740365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



YTl ad U ¥, IR [Od@eUl § €, 39 [9dhey & Iad= & I 1¢J MY e
& T e BT gl TadeT gl 3l

qdT -

Options:

1. * Greie

2. v DAL

3. * AT

4. % 3ATTETeAT

Question Number : 166 Question Id : 54592740365 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ST f2U 910 o o UITIaRT esg T el [ahedT oTal &l

UITde -
2
Options:

1. = HTTeT
2. v hITerer
3. * T

4. = TTchTola

Question Number : 167 Question Id : 54592740366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYieirad Uy #, IR Tdaetl § ¥, 39 [dded &r Id= & ST 1¢0 T Ee
& TIeTI erec, @1 Gg! Ty gl

e -

Options:

1. » Qe




2. = Toel|

3. % JTTedr
4. v UTedr

Question Number : 167 Question Id : 54592740366 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
St 2w aTv ereg & TAeNd ers T @A faRed T

qaadr -

Oy,
Options:

1. = q@g

o,

2. » TaollH
3. * YT
4. v 9¥gdr

Question Number : 168 Question Id : 54592740367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FMgTetad v ¥, I aweut & @, 39 G5! [AweT & aa= & St &y My
-1 & 37e] BT FZI Trpey gl

TTT-Us g
Options:

1. « T MR 7

2. v 7 3R AT
3. % gcerd 3T dTcel
4. » 7 3R TSIl

Question Number : 168 Question Id : 54592740367 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
T S QU a0 ereg-gad & A FT T TheT &l

olal-Toied

Options:

1. = A7 3K oy
2.J$E3ﬂTW
3. = §goa T ot
4. » <17 3T seema

Question Number : 169 Question Id : 54592740368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e 7 &, IR [Aaetl & ¥, 39 [dded & o= & I 16U T
ATFATS & ToTT T ST, a7 Gg! [AddeT gl

S gy AT T

Options:

1. = 3rgdr
2. v 3gd
3. = 31gd
4. % g

Question Number : 169 Question Id : 54592740368 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aol &g WesT A, TN @Fedul # &, 3T @heT T T
ST T&T 310 GTeraTer & [olv Ueh eleg &1 Tal [dhed ol

S Bl AT o @l -

Options:



2.@'31%
3*3‘@?‘[
4. = 3regal

Question Number : 170 Question Id : 54592740369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

M U §, IR [a@eul § 9, 39 TgI [admey &l ad= HL ST 146 T
& To1q 3SR farwe gl

GHg # ¥ 3UAT I Ol X o

1. v Fga
2. % Srad
3. = 3raTE
4. % Sifeq

Question Number : 170 Question 1d : 54592740369 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feafel@a wesT &, I) @reul & &, 39 T2 TFheq FT T
F ST NoFd Tad & fow 3RT [SFeq &

T # # 39aT ST qOT FT o

Options:

1. v fo=aa
2.« Ad
3. = 3@
4. = Sidd



Question Number : 171 Question Id : 54592740370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FyTead uy #, IR aeul § T, 39 [Adey & ad= & S 1T M7 9
& GHTATAT Sree BT g1 Tddey g1 gl

ST -

Options:

1. % 7
2. % grat
3. % ©iedh

4. v g

Question Number : 171 Question Id : 54592740370 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T ved #, I) TFeal & 8, 39 OFeT FT 999 =
ST 20 30 orsg o HATATT ereg T Tar QAeheq 8T &

ET -

Options:

1. = &7
2. = dlfel
3. = Hlcah
4. v Bafal

Question Number : 172 Question Id : 54592740371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyleird 7 ¥, oR Tadetl #§ ¥, 39 g1 [dded of T+ ® ST [k T
& TolT UG e, BT Gg! [AdeT gl

3TEATUR 37U euit U Ui @d gl

Options:




1. v MO
2. % TR
3. = JUAT
4, = Sftaq

Question Number : 172 Question Id : 54592740371 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faITo g wedd H, IR Ahedl H &, 39 el [dhed T IIa
Y ST e Forrer & foIv Sugere efsq 1 @ET fared

HEATIh 3T grofr uT qoT Ed g

Options:

1. v TSR
2. * AN
3. = 3T
4, = Sl

Question Number : 173 Question Id : 54592740372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MyTorad 7 #, IR fordel § €, 39 oo @7 od= oY 511 [, e, T
Tg! fadmeT 3l

Options:

1. v e
2. % MVYST

3. % 3N
4. = IVTIE

Question Number : 173 Question Id : 54592740372 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
ST e[ <Tse 1 Hel fawed &

Options:

1.&?3-]'3-'%3?[
2.*3‘]’34_%@'

3. ® 30Ed
4. = IATIEH

Question Number : 174 Question Id : 54592740373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgerad U ¥, IR [Adeul § 9, 39 fardhey & o2 B ST Y A, P
Gﬁiafﬁﬁﬂ %I

Options:

1. v IR
2. % [QHpIa
3. = GHAdIq
4. » AT

Question Number : 174 Question Id : 54592740373 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST e[ <Tse 1 Tal fawed &

Options:

1. v GTATRT
2. = AFdT
3. * TIFAIA
4. = TA#ATAlRT

Question Number : 175 Question Id : 54592740374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




Fgieiad Uy #, IR Adetl § 9, 39 [adhey & T B ST g A P
Gﬁ'iafﬁvﬂ %I

Options:
1. * 9cTg
2. % GATUGT
3. * g
4. v §IWg

Question Number : 175 Question Id : 54592740374 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feaTfaad wed #, IR [hedl A &, 39 QFeT &7 IIT
ST e e T T fdhed &

Options:

4. v g

Question Number : 176 Question Id : 54592740375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgieiad U ¥, IR Adeul § 4, 39 fadhet & o2 B ST IT Yool

SIEC, dTell g adeT 2l

Options:

1.« 3

2. ¢ olllq
3. % M
4. % ST

Question Number : 176 Question 1d : 54592740375 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




fFITaad wed H, I” @hedl A &, 39 [AFed FT IIT
ST I g‘f&“‘eidl eTec dTell Tal Tdehed &

Options:

.« 3

2. v o9g
3. % IS
4. = ST

Question Number : 177 Question Id : 54592740376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYeiEd Uy #, I [Adeul # ¥, 39 [ddeT ST T3 B ST I&T Sl
aTelT SIET 3

Options:

1. v THTIT
2. % T
3. = &Ur
4, = T&T

Question Number : 177 Question Id : 54592740376 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

feaTfaad wed #, IR [hedl A &, 39 QFeT &7 IIT
ST HeT TEIfeldr arelT <% gl

Options:

1. v JJATIOT
2. % T
3. = &0T
4. % TEET

Question Number : 178 Question Id : 54592740377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



METelied Uy #, IR [Adeul #§ 9, 39 ddmed &7 a9 & S 9T Tdhaa-
S[EC, T Y 3T [adeT gl

Options:

1. v IAIAT
AR AL

3. = AT
4. = FHRAT

Question Number : 178 Question Id : 54592740377 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frfaf@aa uead &7, a) RAeedl A 8, 39 AFeT &1 T =

S H&T Uehdddl e h a8 3THT [dhed &l

Options:

1. v TIAT
2. = oIH

3. * HARN
4. % TR

Question Number : 179 Question Id : 54592740378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FEeiEd Uy #, I ddedl # ¥, 39 [dded ST I B Sl hisd # T
T 9 & AR ALIH T2 eATeh AATH BT JaId 30T [ddhed gl

Options:

1. = () 31 dIs T B TE1 BET)

2.« (gE) Todt ¥ oY o 18 gT B

3. v (T8 )PIS Wt aTa 0T § AT g1 31Tt g7
4, % { 3T ) TZT ¥ Foc-4-ee, del ATB

Question Number : 179 Question 1d : 54592740378 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T vea &, I) TFedl & T, 39 BFeT FT IIT
ST hIssh & GV a0 ofee & HdN HALIH J3Y IR+ FdalTA
FT g8 3T [Ahew &l

Options:

1. = ((# ) 37 RIg oY FA AT FEIT

2. » (7 ) Trdr @ o Fo wET Fgel &

3. v (T )FE T 91T THS # FAT AGT 37T &2
4, = ( 3T ) TG § SAee-H-ofee dol SABT|

Question Number : 180 Question 1d : 54592740379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fyo@d vy 7, o Aeeu § 9, 39 Raew & g9 o s Rw 7y areg
& PreT D UT, BT Tgl [ADeT gl

gl T g o ¥ et gl o]l

Options:

1. * AT TddTel
2. v GUTST ThTel

3. = 37Ul Ydehrer
4. » YU AN

Question Number : 180 Question Id : 54592740379 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl ueet &, I) [Ghedl # &, 30 [Aheq &7 TIT
S QU a0 arer & Tl & A FT ol [dkeq avl

8l Hehell & T & el BT o

1. % GHETT gJdTl




2. v AT HTasIhTel
3. = 3YUT cTehlel
4. = 30T GciHATeTRTo

General Hindi2

Group Number : 10
Group Id : 5459272000
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Hindi?2

Section Id : 5459272000

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 5459272399
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54592740380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Yol ad U ®, IR [AOdetl # 9, 39 [ddhey &r Id= & AT &7 M7 arad

& ToIT gid & 9 BT G 30T [ddheT 2l
TqIgH SAT gl

Options:




1. = gegred
2. v Feare
3. = Yohard
4. « AT

Question Number : 181 Question Id : 54592740380 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafeEa ved #, I) TFedl # 8, 39 AFed FT II9 R
St R a1w arery & v gica & #g &1 @ed 3100 fashed B

OgH §AR &

Options:

1. « Gogrd
2. v ToreTramey
3. = HehcTel
4. = T

Question Number : 182 Question Id : 54592740381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fafalad vy # o Raeul #§ ¥, 39 fdew o1 a3 e S U M7 areg
& TolT U8y & 9T &7 g 3BT [ddeT

BISeR Sgd 38T ST el IGT g!

Options:

1. » IHENTDR
2. = TTdedd
3. v GTaceTtd

4. = quidrenden

Question Number : 182 Question Id : 54592740381 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT E&d s A, TN AFeul # @, 39 TOFeT T I
S fu 910 arey & Tolv el & dAc &7 T&d 3<3T [Aoed &l

HEEIERT I D IMST el I&T gl

Options:

1. = HHSATTH

S

2. % YEdeIITh
v gracgarees

3.
4. » qUIAICATTH

Question Number : 183 Question Id : 54592740382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

7 et § ¥ MEATYR ag TRadsT & [dd@ey gyl

TS A 2T T ( Wigeed )

Options:

1. » g1 ST ST O T &
2. v TS H o gl SIS STer
3. * CISAT 376 T &b g9 § g1
4. = TS I H IS

Question Number : 183 Question 1d : 54592740382 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faFT AFeal § & ﬁlﬁ?llgﬂu =g INade T [Ghed gf&ul

TS det afeT gisar ( smaarey )

Options:

1. = oT@T QIS ST J9F Te &
2.%@@%@@%




S.QﬁsﬂTﬁﬂa?Wﬁaﬁ
4. = T o1 H GIgam

Question Number : 184 Question 1d : 54592740383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT U ¥, IR Tddedl § 9, 39 Tdthed B T B ST gl ATFT A,
&7 TardpeT gl

S YWl gl T, AT A BT <79 gl

Options:

1. * P aATH
2. v Y o1y
3. * gD aTFd
4. % HehddTaeh eTad

Question Number : 184 Question Id : 54592740383 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST Ter areFg A T [dhed &

SIS 3THel & 3T, dl ek Flar =997 &

Options:

1. * TIFd AT

2. v T8 gy

3. » HgdTIe gl

4. = Hehddi<Ieh aTeF

Question Number : 185 Question Id : 54592740384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Myleldd 7 ¥, 9 Taddetl # ¥, 39 [ddheT & 9= & 511 Gg1 a1ad 9

PT [AdeT Bl

STe 3G 3 <@T AT | T

Options:

1. » IgH aTFT

2. * Ghaarad arad
3. v Y arag

4, % Glel ATFT

Question Number : 185 Question Id : 54592740384 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

farafel@a med A, I) BFedr A &, 39 @FeT FT TTT
ST Hal aTFg Hg &l [dhed &l

SIS 38e FF QT AT A&7 AT

Options:

1. » TYFT qTHY

2. = HehddTdeh dTeFd

3. v T8 gy

4. = Il AT

Question Number : 186 Question 1d : 54592740385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YT 7 §, IR [Oweul § 9, 39 [ddey & o &2 ST 951 arad 9,
&7 e il

S g1 89 gy Toam, # &1

Options:

1. * P aATH




2. % GehddTad dqTad
3. v THY gTF T
4, % o dTFY

Question Number : 186 Question Id : 54592740385 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fArafe@a wed A, IR TFedr # &, 39 TFed FT TTT
ST TET aTFg AE T [ahed &l

S &1 #He gy U, # & e

Options:

1. * TIFd AT

2. = HehddTesh dTF

3. v T8 gy

4. = Il AT

Question Number : 187 Question Id : 54592740386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgierad usy ¥, IR Aaedl § 9, 39 [ardhey & o2 B ST Y aTFT P
ey 3OT [ddeT 3l

Options:

1. % IS0 BT slpT T AT
2. % ST AT JA BT o]
3. % olcpT TN pT IR AT
4. v T AT i T &t

Question Number : 187 Question Id : 54592740386 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
S UE ATFT F ged M7 [aeq &l

Options:




1. % IIGUT &RT olhT AT 2T

2. = oI AT ITGUT hT oIk

3. % o] JIFUT T AT 2T

4. v oRT TGUT T AIRT off

Question Number : 188 Question 1d : 54592740387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mgl 7 #, IR rdeul § ¥, 39 [hdhe & ad e AT 1R =g
Ieh a1 BT Gg! ey gl

Options:

1. * ¥ 399 QR AT §; "I g §31 TS, g1 L’
2. v ¥ 39 QR LAl §; W ag §31 T4S g1 hedll
3. » ¥ 399 IR T §; W ag o UHS 751 ddl?
4. % ¥ 398 QR AT §! W ag Y3t THS, g1 heall

Question Number : 188 Question Id : 54592740387 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, a) Bedr # 8, 39 TFeT FT TTT =
ST far Riger I a9 F1 T&T f9heq gl

Options:

1.« # 380 R T §; "W 98 TH qEE A6 Rl
2. v # 350 9N AT §;, W T8 JH THe A6 FLAT
3.« # 370 WX T g, W d8 JF 98¢ gl FIA?
4. « # 3F0 WU AT | W T8 JFH IHS A6 FLAT|

Question Number : 189 Question Id : 54592740388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MYgTeTEd 7T ¥, o) TAdeul § , 39 [Awey & ord= & ST oW =g
gch eITard ol gl e gl

Options:

1. * g = ST TGT ATAT AT- THST AT




2. % "gg TR, ST TGT ATAT T, THST 1T
3. % o AN, "SI AT ST &T, ThaT 74Tl
4. v ag T, ST TgT 3ATAT 9T, THST 74T

Question Number : 189 Question Id : 54592740388 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fAFafe@a wed H, IR Aedr # &, 39 TFed FT TTT
ST feTe RIger o arehd T §ET faehed &l

Options:

1. % T@ A= ST TG AT AT- THsT T

2. = " AN, AT I JEGT AT, JhsT IAT|"
3. % g O, "ST T =T AT, ThasT AT]”

4. v gg TR, ST T =T AT, YhsT AT

Question Number : 190 Question Id : 54592740389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HgTeIRad 77 #, IR fdaedl § ¥, 39 [ddhey &l 72+ o ST o g
I AT P 91 ey gl

Options:

1. * G 9IS, HIS oATeAT ST THS g1l
2. v G HIS-HIS dATeAT Sellhl THS g1l
3. * TS HIS WIS ATeAT Sellhl UHC, gl
4. » T3, HIS-WIS ATeAT SelThT THS 511

Question Number : 190 Question Id : 54592740389 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
ST fere Rger gobd arehd T el [ashed &

Options:

1. » 75t #f13, o715 aTel Follehl THe gl
2. v H3 MS-HTS dTell TRl THS o6l




3. » AR 15 oI5 dTell olTehT THS g
4. = HH, AI5-AT3 dTell FollehT THE el

Question Number : 191 Question 1d : 54592740390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tgiellad Ty #, TR Tddetl § ¥, 39 ferehey @l @ra= @ ST 18U 7T ggrere
o TelT Tgr 3ref eIrelT Tereney gl

IS greT ot

Options:

1. = OGS
2. v THSIAT T TST 3(THT

Question Number : 191 Question Id : 54592740390 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e @T med A, I) Tedr A &, 39 TFed FT TTT
ST feu atv ggrer & Tolv @ial 379 aren fashed &

TS gAY olel

1. = QIS
2. v Hodr & 9T HaT
3. % AT FTH

4. % HSE Flal

Question Number : 192 Question 1d : 54592740391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Fgieiad Uy ¥, IR [aaeul § 9, 39 fadbet & o1 o S 1U T ggTer
& ToIT TET 3ref aTelr fadeT gl

TS UTeAT

Options:

1. = GSh 1

2.« {4 tJ'CIGl hH |
3. % Q@IS g9
4, % € HEAT

Question Number : 192 Question Id : 54592740391 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

frafe@T mea A, I) TFedr # 8, 39 TFeT FT TTT =
St 2T 90 Hgrey & forw @l 31eY arerm fasked &

TS YTl

Options:

1. = H3h FTodldl

2. v Hd HETT hH Tl

3. * T Fellall

4. % ocC hIddl

Question Number : 193 Question Id : 54592740392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FYeirad U #, IR Tddell § ¥, 39 [dded &7 Id= &SI & TS dAldhiih
& ToIq TET 3ref aTelr e gl

YT ¥d T SfTTICT Hell

Options:

1. * 3D o1 gIAT




2. % AN g 3N AT it ITd
3. v ST eIl agl agd

4, * JUCI AT

Question Number : 193 Question Id : 54592740392 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fFaTa@d ueel H, IX Ahedl A &, 39 [Thed FT ITAT
ST 3 5 ellehlTerd o Tolw Har 3797 arer [dsed &I

HIIT 3T T olaNer #oll

Options:

1. = 3<Teloh dTH Bl

2. % YUY TR AT AT Hr &
3.%3?%3@'6@?[

4. = 3U2LT Sl

Question Number : 194 Question Id : 54592740393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Fgfetad vy ¥, oR [Aweul § T, 39 g Owey & o= &2 S & T8
ellehiTth & Tl Tat e aTell [ddey gl

at . =
AAmsl & dof Feg AT

Options:

1. * e [&@MET
2.vHT G PIA BIAT 3

3. % T
4, » To4T g1 & hTH AT

Question Number : 194 Question 1d : 54592740393 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fITaad weed H, I) Q[hedl A &, 39 Tar [Theq T IIo
Y ST & IS ollhllFd & ToIw Far 37T arem dheq gl

oThal & §of 82 o<

Options:

1. % SHI{de SET]

2. v 9 H Bl 1A BT &
3. % oddlell
4. % TSI &l o HIH &lal

Question Number : 195 Question Id : 54592740394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FaTeiiedd vy #, IR fadetl #§ ¥, 39 Ga! [ddeT o a9 o T & 18
AAIPITch P ToTq g 37 aTelT [adhed gl

gl Y-, HIST MU-TTT
Options:

1. v 38T o o7 3R G Dl Uneh T
2. % S DF d9GT HAT

3. % ARICHC, &Td

4. % HT Dl 3cGTg hH H{AT

Question Number : 195 Question Id : 54592740394 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fITaad weed H, I) @hedl A &, 39 Tar [Theqd T IIa
e ST ET IS WAhiTerd & Tolw Far 3127 arelr fdeheq g

Fsdl 4-4, AlST I9-a19

Options:



1.%31?&]‘%%3111'@3#%%
2. % Si& & JET HLAT

3. % WRIUSHS S1d

4, = Hal ohl 3cHIG hH hIdl

Sub-Section Number: 2
Sub-Section 1d: 5459272400
Question Shuffling Allowed : Yes

Question Id : 54592740395 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension
S eI DY EIMYeld Ug 3NN AN ddhedl # 4 Tedd T &l GaidH Il
SEl

Terenteat & dgdl g3 IJUATHTRINT & PRUT § FHad:gairtd F&I B
Ig g Tob UI: Taemdf SIg<rma & oftHl & 3ruiid gid g1 Svg HTo[d gl
g T STLmEsT I SilaT &I Uef T o STdT gl AFATITGIdT bl SH
TN TG 3 T 31T Dl TAYT GUITAT § 3R Dl el TR Q0T WS
TolT 11T 31 Teren et ol SIreRur-gereft TrgT gl &1 STt g TAT J&aehiy
AT DY §1 Gl G0 AT Tl T TAT g1 Wl ATt dr sieret AE® yi
T 33T Pl 3R 34T Il deil ATl gl 3T: TG ATALTD 3 b gH
T TSIET Ui # G Y TUT STAR-ATE Bl AT IRTHD BT H
AT TAT I PYTIN § dhletd U H T § LA <) 39D 1 51 gH
TSIt Bl ag Wi T A1 T SITLATH [chd bR § ek HTeT Sfter
& TaBTg #§ YD &9 GhdT gl §H [T Bl 3 o1 DI TA&T AT
ATTRY Toh AATE & WTEAW & A7 W RGF I T Dol | ATt 3l

Sub questions

Question Number : 196 Question 1d : 54592740396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Terentear # dgdl g3 IJATa-TgIdT &7 UIH 3T &I I T 32




Options:

1. v TATHT & ol & URTed giHT
2. * JEADIT A

3. * dpioddm g
4, * &I T &A1

Question Number : 197 Question Id : 54592740397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

LT & ATedd § Tergmdf o 4t wett dHg gepar 3?

Options:

1. * 3ITLATHT i

2. % JTBdT ¢l

3. * ATIGD Y hr
4, v T T =0 P

Question Number : 198 Question Id : 54592740398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT TATTAAT D FAT IdT i TALTDHAT 572

Options:

1. * MR-

2. % T =AU gr govaT g

3.« Y TGGTT & @ gohd g

4, v Y ATATIT HTATT o [T ATALID 8

Question Number : 199 Question Id : 54592740399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0 I DI - YT IT3dT BT TAAATT e Tal 572

Options:

1. * gEaT
2. v e ET

3. » GEHIgY

4, * JFGSYT

Question Number : 200 Question 1d : 54592740400 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
39 3TV, DI DS IUYh ATUh-
Options:

1. = TarEmdT Sitaq
2. = Toeerdl 19T

3. v SATH BT Hgvd
4, % Sita T ==

Question Id : 54592740395 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension



S AT 1 ATAYAh T¢ T AR Thedl H & Tcdsh U

T HalcdH 3ol t_lﬁl

ﬁ@ﬁﬁﬁaﬁﬁyﬂﬁmﬁma:wvﬁﬁ

HAIT- TR AET FROT Ig ¢ fob v faeamefl sfepemea &
omHl & IR Bl ¥ 376 AT od1 giam foh 3fefermdeT &
Siael FET UF AT a7 ST &1 3HeRIHeTe el T T FO
g & Toh 31T <RI TRIEIT UUTTell A MTTRUT Sl shddl STodald
fowr gasy forar arar &1 et ot smRor-geedy f2iem a8
& STl & T QAR FATel FI & T F5 Al forar a2 gl
Trolcl: TIGATTAT T Terel HAlelideh Yglcd foRal 35T T 3N
3@ BIdT Tell ST &1 37 Ig AT+ ¢ o &7 3Tell
forem agfd A U hT TUT HER-LTET T o7 HTEAF Ferrait
H 3fea aur 3T FEmt A dhfous 09T & §9 H TAH &
Sk AT & &4 deanfdar i g off gdmer @ifge &k

T FohET ThR & Iefh HTAT Sliael & AT A Tgraeh e
GehdT &1 &H ATt ot gq o1 o1 & a1 =nfge fop
AT o ATEIH & Aol U fATT0T Flat k1 el 87 31T &

Sub questions

Question Number : 196 Question Id : 54592740396 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faeanfi=ar & sadl 55 TR ST T T2AH 3T HET FR
AT &7

Options:

1. v 3T & o & 7RI gl
2.&3@@@%




3. » ghledsh @Y
4, = €T of ol

Question Number : 197 Question 1d : 54592740397 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T & ATEIA { fdegredl Fler AT el W@ FehaT &2

Options:

1. = aﬂﬁmaﬁ“r
2. = 3ESdT hr
3. = HATIH Ulced hr

4. v AT W IF0T Fr

Question Number : 198 Question Id : 54592740398 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3TeT TagaTiat sl &7 adTa shT 3TTeTehdT &7

Options:

1. = HAR-TdAR

2. » &7 feay @Y 8 g&ar &

3. » F IaqT T W TR &

4. v FF NRTES HiTST & U 3EeTF §

Question Number : 199 Question Id : 54592740399 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SAH & il - T 33T T TITIIRIT eIec ool &7

Options:

‘I.%E&"QFIT
2.J31?;|j“arrﬁfm

3. = gEaTEd

4, = HFESTal




Question Number : 200 Question 1d : 54592740400 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SH 3eledde T Ry SUFFd ATThR-

Options:

1. = Taeamedt Shae
2. = Toegrerdy feve
3. v 3eIRMHeT T HEccT

4. % FATgel FT IFOT




